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There are 30 questions in all in this Part. All questions are compulsory.

1. spGurt podsms Qaran® Ledral Quudseald Qo SraTUZID HGILGIRIGHL

udlieugih @aer LIWeTUIrLm@Ld
(A)  Seneray a44) (B) wwipd eif
€ <pugs o (D) wwan@FgTeD 6l

School experiences and activities must be arranged in such a way that learners
may have some degree of confidence and success in their work is an application

of :
(A) The law of effect (B) The law of exercise
(C) The law of readiness (D) The law of disuse

2. pPrESluemLgared psamwwTs HenlCUDTs CELm SeLITETD SIS
(A) so@Ullyior SEE5  wulB) Lboalipsge
€ ewbos awbs prsse  ([IB) GuaE sHH]
Identify the action that is not caused primarily by maturation.
(A) Swimming of tadpole (B) Flying of birds
(C) Walking of a infant (D) Learning to talk

3. BT aurmpuuUpsmsU ug’n;ﬂu_t Hoar sTL8 S@uagmst QupesnHE
aurerpliLpSSen 2 (haussb o anisflsmens QaramL &TL8 2 amienaiu|d
Henensgil LTTés Wwwnél belicug QsNE 2 SMaoTELD :

(A) s@msSwe Cerumb (B) eugeuemwiiys Camlumr®
(C) pLsamsiiud Camur( (D) Qewaur s Cari_ur®

When we report the perception experiences of a banana, we try to combine visual
sensation with feelings and with images is an example of :

(A) Idealism (B) Structuralism

(C) Behaviourism (D) Functionalism
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(A eTbs warGamppeptd GO ST,
(B)  <iewansgl Gsumsuas@t%@m FOLOTET Seueld auphsILHEDS).

(C) ydw wepew yipg Cararar (PiLTS Hlana.

(D) Qurpssrer LflEsmer aIpBIGLS.

In the learning curve, pleateaus are found. Of the following which is not related
to this : -

(A) period of no progress.

(B) equal attention is given to all tasks.

(C) inability to understand a new method.

(D) Providing suitable incentives.

Aeoareled QméEDn CUg, Bd (paramed QBEGD SHSESH WOHIILD
TraTaEIEEHLa QuTBhsusHE SrolGuTESd Ligliugurs Bliremmud &a0uBIb.

A) GnsE0 (B) &eu(h Sengey
(C) Henga|ser (D) BOUE® B&s

can happen when memwws ﬁeﬁbmft progressively reconstructed over
time to fit in with our pre-existing:conceptsiand ideas.

(A) Interference (B) Trace decay

(C) Distortions (D) Decoding

whpsAluder Wgworer o aar GHUudLluu@eg Sjowd
Blenaullenamnud pOgIETTameUL|D UPBIGUSTS AMEDE).

(A) W oGumrmwm (B) _Q,l'_G;_r,rrﬁ]u_!rr

(C) <erflwmr (D) W Gumflwm

The milder status of happiness referred as lead to a sense of well-being
and relaxation,

(A) Euphorbia (B) Eutrophia
(C) Anuria (D) Euphoria
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(A)  @plrauLd (B) Si@ueud

©) pemamio D) shpd GRE

Insightful learning does not depend upon the factor,

(A) Aspiration (B) Experience

(C) Intelligence (D) Learning Situation

ura:nn(b.urreﬂ]c;h PEDW SOED (P eys QaTaTs TETLS! safl puit LM sET, BL5S
wpmo ______ srresflaGearr@® Qgmy Qarareusen eflearaum@Lo.

(A) e_ewrie|L}Teulors (B) &apsLd

(C) @pHlame (D) o L@ffurs

haviour is the result of

In Bandura’s Triadic Reciprocal Causation Model, be
factors.

interaction among personal characteristics, behaviour and
(A) emotional (B) social

(C) .environmental (D) physical
PPHIGTD 2LH5NSD DNV Gui_LerT SMm&prT whcdeoaniear sra SiaTe]
(HIMT_QISEGID HIORSEHEGD @eo L Gryo)i:

(A) 0.03 @prg  (B) 0.02 Gpr ()| 0.01 Qs

e Knee-Jerk or pattellar tendon reflex

(D)~ 0.04 QB

T

The latent time (Period between S-R) of th
being only :

(A) 0.03 second (B) 0.02 second (C) 0.01 second (D) 0.04 second

QT (HEGD DITETEEEL ST @&SWUTNEUSDE
A GGDD BB '
(B) @l (HQwrss varef

pLmg Llyésemansmar it C&
Grmgiev 2004 BLEMS

() Apdy ueraf
(C) uwerafl&Ed SLurhuULL

ecovery by Rogers, 2004 is a
havioural problems.

(B) whole school
(D) at home

(D) eiligev

Behaviour R sppranch: oridesiing S
students who have be

(A) special school
(C) out of school
[ Turn Over
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(A)  etrybdenamnileh cpiihi |

(B)  corgni et o abtainil e
hu””Jl‘.‘I‘H.‘T:r.'F,iii

(C)  sitey @l IGsii() (el a1 |
(D) $lev a1 tenmell gL (i et O, 1 Hobtesf
Which atatement supporta e fnel ol eiatey ol 107
(A)  Special tralning plven et ly 1 i T esuia 1)
(B)  Actual petformunee iy vy Wil s pierienes

(C)  Mental age Increnset with elionulogenl fe

(D) Iew boys blossom lnte el s Teted

el ﬂ,l#.-w.—'ffﬁ,-!.-‘h it M0 il

Wi et et [m'w:rik,ﬂfh‘rMﬁn‘hﬂ“ﬂ

@ty gpn el nt 1l nlillﬂnimm‘nll'i| "
(Q‘J e l' J j,””d'_l, “:flh”:"n“h”'J'.‘?”"."”_.i”f /""-'-” f’n”h*;t“l

auirpeihasirant GUathLIn: (i Glatt el (nee Ml If
GGG aNaiflgym.

(A)  aradlolLig @miaid (1) antiiiay Clyiradas

(E3) Ay i ;g..uunm-f_llmt'w..'uI'
e et evelopmental sk ol fife!
v ety growth

Apheei vl

‘euarired) crenm aiighengdiy, Hipdameint el L T )

(C) eI Lion (i
_ described the ability 1o pe

that an individual must learn in ortler o ae
(A) Blizabeth Hurlocl a (
|4

(C) Albert Bandura

(A)  Qamrpaer@ndlid woilmini g

(B) oL arani \dlaninye

(C)  qapdirdd) opani by Nt i Adlng)

(D) lera|safled mmasilg Lyl

Which of the following sentencen is not related (o the fopm prowth" ¥
(A) Expansion in vocabulary

(B) Increase in weight

(C) It continues after maturity s altained
(D) It changes in quantitative aspect
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'aﬂeuasa; migTeley rradflenar uu_lén,.l@ 51

CSTLIT g a;mpeﬁ]m Bseyd Cyaeuwirang gl ?
(A) SR smpe

B
(B saflgsaiiumen QSmL_irysener Qeiwésaig Fpoo

Qurr@masana-r GW@M@;{;Q <iflsd
(D) QOm_iiserrs Qeverg s

(C)

Identify the phrase that is pivotal for chain learning.
(A)  S-R learning

(B) Capable of performing individual links

(C) Discrimination of objects

(D) Connecting in a sequence

e CulLisen yera Camedla Bmliug :

14 gienemr AV GEHET (B) 13 gienemt Sj@5eT
16 Glenew DGEET (D) 15 gleneat SEGET
_The Pinter Patterson scale has :
- (A) 14 subsets (B)= 13 subsets

(C) 16 subsets (D) 15 subsets

3

1 )

5D Glal j@iflen Cairay Gemaimeaeneuhmdr e
ThEs @ Hemandlal ey wilidleman > (HAUTEETE) 2

(A) eumiQumf marerdle) ey iy
(B) Qewédpern Hamandley Fa| WS
(C) w =ereCared mi@TerTle] ey iy

(D) erer &mihs Hemenley ray WL

The Wechsler test which uses a deviation IQ does not produce AL
IQ score given below ? _

(A) Verbal IQ score

(B) Performance IQ score

(C) Full-scale IQ score

(D) Numerical IQ score

[ Turn C};fer
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20.

i A

udtefl  wremasi s SfleunTps

L oy L 9IS
QoL foe womn Wi t 4

Quarenwo___ floais Gemennd) APBLNE G a5
(B) @sugpss aphrc Elana

(D) a@ppub Pos

41 disability may never move

(A) yewaflwsss Hlaa

(C) umuQurmer Hlenm
Middle and High school students with intellectu
beyond the level of

(B) Pre-operational

(A) Sensorimotor
(D) Formal operational

(C) Concrete operational

s508z0 FHNS G Bra P55 s Curdng-

(A) 56% (B) 60% (C) 66% (D) 86%
is forgotten after one day of learning.
(A) 56% (B) 60% (C] 66% (D) 86%

Hlopaude erfissaflon aer sFaps AUCTiFAS Qzrarazidé seafl waflger

sfluren wHMID geupren 2 earTenal qﬁ)u@ggé}mné:.
Hlene VII

(A) ;5]65}60 111 ;Elma) (C
An individual develops sense of ri in Erikson’s stages
of Psycho Social Development.

(A) Stage III (B) Stage IX (C) Stage V Stage VII

gamysELULTLS QBUUsNans dmeazema sagueaL w QuDCprismer erbhg
Caarafiiyib CaLsmod, QemhCusams CaApren. Carduis apmitiLg eHs euemmeﬂ
Blenauller 2jeuen G)méSenmren ?

(A) UACwryed Hlene 2 (B) ufGuomeé fea 1
(C) wmrbufy u&sAEH Hea 3 (D) wumybufw 2W&sapMN Haw 4

Krishnan obeys his parents unquestionabl
y because he wants t
As per Kohlberg, which stage of moral development does he ﬁ(; ?:D;d punishment.

(A) Premoral stage 2 (B) Premoral stage 1
(C) Conventional morality stage 3 (D) Conventional morality étag '4
e

e,
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Wi sy e et 1ngen e e LA CGmbO [ apan s
'nF.ﬂI'I;‘iumh-.M .l.;h,'.‘\u..\luuy\‘,-,-, ) 4
(A) sl von i) Wi el (1) cl,fhflenr gl ajar@|Camma

(Y r.ivldlli'nnhlq (I\‘.l|||{;hnnmu| () l‘;.hllllt.ﬂh'l-’h (::mrp,:.m.nr

WhIeh amomg the tollowing does not come under projective test of personality

ARAvHERION
(A} Clay modelling (1) Arthur's Point Seale
u‘] :l‘r‘“l“ll 'I“|n| “]] Mllﬁ”i“ 'l“'.ﬁl

LGl Qo aalldy L apdien GUrs siaisefian gpaars

Gl e e hlay Gl e dha @iyl
(A) Bleney woadlbay nadidlynih
(13)  INemad 2adlipa) @ angama
(C) Al aradi’ el Gian s

(1) Gynhedledr arands et L teardlymb

While participantn are engaged in (aala their hrain activity is recorded by :
(A)  Poaition emitting tangram

(13)  Ponitron emisaion tomography

(€) Progeammedl electron tomographvy

(D) Positive electron tangram

Lol Hla)ani cop, e Bl an @il i appd Qeudumnyald dmwps ‘CeuguOsgHge’
BHpaflanan Giotby [ONEIRINARY Geniauntd 6T G Papes Qsmrrans wpaSusgieuLd

Sldarng ?
(A)  pandiEnaidhne (B) Sl

(C)  GleMmiIseD D) aigiaplLd

Which one
Diserimination’ in the operant learning process ? ‘

(A) Motivation (B)  Stimulus
(C) Response (D) Reinforcement

[ Turn Over
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24,

25.

26.

27.

Asev a1 Quéerfer wapwurars smelsmer auigamwgsalgd Wl
QurPl@welgib wsdwl vRsTHHEDS.
(4)  wver QunQua (B) wafls @uiniwe
(C) CrCarr QuinQuwid (D) et QuiniQwied
method of Gustav Fechner has found much use in apparatus design
and human engineering.
(A) Psycho Physics (B) Human Physics
(C) Nano Physics (D) Electro Physics

Csaaflar gy @paw amsiuryd ‘aagrs afésomCart wHpb ‘ereilsns
samDssdensEh’ @ owsE el ul L amslaemy Gaeubd ThE G
wCamplerawlar S uamsliuRSsQTD ?

(A) CsrQafs (B) (ef5Coné (C) Quleasras (D) srmi@uler

In Galen’s classification, the Irritable’ and ‘Easily Provoked’ type of personality
was classified under which one of the following temperament ?

(A) Choleric (B) Phlegmatic (C) Melancholic (D) Sanguine

Sefly war oiWé558d 2 drer Crrwnaflée 70-150 Ceunel Wanignisms senauld
Qeaussib dééms wea :

(A) e s dfsas B) WWM ffsens

(C) e enows fdlFans (D) WerermdL@GLY HlFens

A procedure used in the treatment of severe depression in which an electric
current of 70-150 Volts is briefly administered to a patient’s head :

(A) Electro crystal therapy (B) Electro catalytic therapy
(C) Electro centric therapy (D) Electro convulsive therapy

EpssarL eflam euamssafld) arg Lwrerd meusg e sar® 9y sEn
Sigliuen uile @eera ? |

(A) Casmgl L @ kigeer Hlriys (B) ueeydr Csiray

(C) &M/ seum : (D) eflwren @enemrenwid ser(HGlig
Which of the following test items is not based on recognition ?

(A) Fill up the blanks (B) Multiple choice question

(C) True/False (D) Match the items
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28.

29.

30.

&( (Ba;wLurrE.qsirr LenTL&sefleh SIOTBS :

W) Gempmengparens B) USSP

(C) &m&ss5emanio (D) p&flusgiad
Which is not a characteristics of a theory ?

(A) ’I‘estabilig (B) Rationality

C) Parsi :
(C) Parsimony (D) Significance

EMTEE-&T&6 CFId men Cergenan @abarsmeanami] el slg@Tomeng) :
(A) ACesevre it GuiLA Cergeman

(B) 5 sroieneyGard

(C) Quflé-urewi Cargamen

(D) Qe e - um_L_igen Camgena

The Cornell-Coxe performance testrasc more difficult than those of the :
(A) Alexander’s Battery Test "

(B) Arthur’s Point Scale

(C) Merril-Palmer Series

(D) Pintner Paterson Series

@Cr Urirepaudé seuardsle Qarererliul L Qurperseien orehmenfléensenw

GOV

a) ufge eiés (B) Henana eiés

(C) &&5 HEUSSD (D) werand GFugHe

The one refers to the aumber of things perceived in a single movement of
attention :

(A) Apprehension spail (B) Memory span

(C) Retention (D) Recitation

[ Turn Over
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31. am Qémumﬂ@wm SrsarGuir eygs@arur Quirgmdr e idNd@ ahp alensuiley
SOWHHS Asrar@sd WaDES arav Quiwi,

Q) EQuuir (B) auprile (©) apa@nd (D) QurmarGsirar

32. sV ‘s’ aufles crsmsELar Ceipe arrod GApQUUQWEPSHEISESL 6
LLBCW Gsipg umb QLUAWSSISST :
(A) W, ar (B) (C) u, m (D) & W

33. Gumedsdramt pLgsrs Qs wrs ?
(A) Gsen@um® (B) srwQum@ (C) sWREAL@ (D) silpHen

34. QuAlwyrrer Quibes sTLAND wroer Sasdt _mbwrisegrC
urupCsTHWL ?

(A) sLbU wrbd  (B) STFLIL C) STen & (D) sWw©
35. @sumgnsn Qe WL HWL srﬂu_lrr@a d d
w&lr - srHPld WISEESL < HmD
_(B) sfor - euemruempupn NG LLmD pHOO

(C) m gggleud - erii@D aNwmMISHHESL DO
(D) smwreusmiiseud - embIGUms WPi&@ED pHDe

36. @Qersrs (e WD (ETDs SmaTy b
HSASTOYID FTDES QLS. - @FD SmwpgidTer el ergl ?
(A) Qg CGwrflsd el (B) Geaupmen janfl
(C) 2 euaid Djanfl | (D) spEOMUCUDH ienfl

37. UEBUS 2MILULSET M eu(HD GQFTe :
(A) eergdGL (B) yeerpGsrd (C) ysedi (D) pubgeren
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41.

42.

43.

44,

sflwmren QuTmSSENSE T :

- I A

G0 QuITmHET
(&) &enp L LeamssEd LLETUED HTEGEESLD
(B) @ewrLb = LOGHEY @3&[:_@ ﬁr’rﬁ,@g;és&.tb
(C) Qe - GassuuL- Quflw Brflene
(D) &meue - o aiiar Hagdld Ggmapr_LiL®D Hirblena

Qumrmsswreang s :

(A) @bperQuen - G556
Qeiieflens jerQUEML - SITEIBISD
Qaaflens QUL - 2 LTS
Qaraalens emQuenL - 2 (HLLGm2 LD

(B) @nhpetQueL - SJEmSD
Qaiyeflens er@ueL - 2 (HLLSM2 D
Qaaflans sjentlumL - 2 LT
Qemrdelans SjertlueL - G556

(C) enmarbueaL - 2.(huugreLb
Qewweflens <jerbluen - 2 prsym
Qanaflens ieTELIL. - ks
Qeraadllans aTaudL - GG | ¢

(D) ehperGlueL - SFRIGELD
Qelieflens yerCluepL. - 2 LprsyT
Qenaflens SjerQuenL. - 2 (HLugne

Qaradllems erlumL - Gi45L56)

amewule sar_fuiulL drrell  Qwrfsefled
Frrefl_Glomg ?

(A) eTmsT (B) a&sum (C) Gemfsm
‘usaafler Apps L, LGS U erang Qememameur :

(A) sallwenf | - (B) prossd seleht
(C) 55656 (D)  unCeupsi

QLwluprs pOS

(D) smsT
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'D .r St il ! - : i R
48. 'oaut @hipeur @ o) Ty Grony VD

(A) \0ds&r Qagigiin aufln, (1) w2

;] ] = -
(€) D®atiumr_ama (D) e

e Gampe Y auflér wC " erenLEen
46. @uragns Gompanianaid NN i ool arenus wCangl” aaLz

@uITEHET wirg) ?

(A)  @irafif B) waw (C) W (D) LD

47. Quavger ‘oHCGuir oo Gauein@)ib eremg ol Aweur
(A) O Qe (B) masaib obyh
(C) Gpdlw el (D) Ly Asmed
48. '[HOGEHTIGH @GOG @Ydangaiidely LmgId
@aariragh Guwanpnd' erempauir,
(A) bl wig.ser (B) 2ipfl Qsr5ap0E0
(C)  Hapeudir@naiir (D) Uiy 4 pirsen

49. seumdpry Gudlafen < fflwi wri ?
et adda
(C) 1wulGambd QLG sapisd
50. yeerddludicd wmpuLgl ergl ?
(A) sridupe  (B) L WG (C) Awesemiiuren (D) soewdley

51. mpGurge, apeaflen QuiHfsd, sasghowea epn euliaufla GG,
o LoCd e udiafz Gampised 258w auflensufed yemriibs Qe

(A)  eubBOlLD (B) GeupbliLd (C) mda@TenL (D) Guemi

52. gauprall QuIEBHUIBIL®SS CoirpesHEsaw
(A) 1@ + DIad - Qo Lpen 2 ud\ir
(B) Hafl + apéi - 2l @per @il
(C) @L + SIpE - Qo ¢pem 2 udlir
(D) wyid + Hener - GOl e Qo
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S3.

54-

55.

56.

57.

oo, Qpugd, WL@HSLD, & MHEh

auflevsliLBSgis. . ’
: £év, @5
(A4)  smum, sred, dd, @rpd  (B) e, MUT’ ~ -maizeb
(C) =idléd, @Hmped, ST, HTEHS (D) &MU, @, HTEH.
: : n

‘THBH BEHET el eremLs) craleuensl @UWINTS PwiuGE S
(A)  paumrD Cuwir (B) Queagmump G@uwir |
(D) r@smwm UTsy Quuwir

(C) @murd Quuwi

Epsramuaaupmer ‘@epss’ upHlw gapeond CaMs :

(A) UL @& Qedleyb Gummer 2(PSBWPD EP&s SHemOULD
(B) @Huihsmers Qamam( 2 (HeUT&E&SILHLD
2 AUQumrECerr® CrllarLg ApTLTdeoans @O0 QumbeT

(€)
ofenar, Liwien, euigeutd, HIpt 2w Brendlan SiiglLamLudldd GgmemmiLo

(D)

“BmEpd &lpenLouyd
B BCSMTEG @edane
@muipmé Slpentou)b
QuasEnéE @aama”
-@uygsseilamguier gL Aflwr wri ?
(A) @rrgfad (B) Wybler urgnésndyen
(C) &BaTeuUGT (D) LGl GLOme

eaiGaue, dumflwenp, Siflu gyemenw, prer Seuer - sflwrer (pepaneutiy AR
(A) efluyl uwyssd, 2 e@srpOprL, 2_bamws6srams, elenent O\ 5 rens
(B) 2M&@empCpri, Ghluyl QuuQris, aflenansprans, o 1bepiogQErens
(C) 2awe @y, 2 bamwjbsrems, eamapOpreas, @i QuWQydsDd

(D) e-f&blemp@prii, allenengGmrens, @fliiLl QULGTFHD, LDEOLOE O\ 5 iT6m &
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68.

B w.
H} bﬂﬂl’(ﬁl!l}mlﬁrl’ G’rgj ﬁ)ﬂl[ﬂlrﬂ'u nuﬁumguuu@mmg ?
(A) amiaapaor Gy

@eueimdir Cleueiorener
(B)  ambapen 1Bleniy

(C) (}mﬂﬂﬂpﬂ.ﬂ ‘[ﬁ]{;gmj'
(D) o (penGpir

BengQuirenmr Hfwggener

T @anflu augpfigamer

Cp@yrenprdlMlwsseer

69. @D W@GEILib, (g @LsHo sllwrang @&

(A eumpss AT
‘ LITTdHs enLiwen
n. pomatic
waGer g
(B) aumps gflp
UMTSSL a6
@y ator e it
waGer it
(C) eumps ZOD
LTSS GG ‘ a d d a
G\g. Bewren i
Ww&Ger ST
(D) eumps SLOILD
UIMT&S enLILI6o
Gy HT T
w&Cerd S

60. saupren @emeanews CHirey QEws |
(A) el + 2 Qi - e + Si(Hel (B) __G\u)u'.l + 2 U4 - LD + Sjemenan
(C) eulr + o Uit - @Femener + WD (D) GQuuw + Qi - Cgem + enp

[ Tum Over
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PART-1II
ENGLISH

There are 30 questions in this Part. All the questions are compulsory.

61.

62.

63.

64.

65.

66.

If you heat ice, it melts. The conditional clause here is :

(A) First (B) Second (C) Third (D) Zero

Pick out the one used as an example for a.run-on sentence. '

(A) Ashwin loved visiting Kanyakumari Santhi preferred just to stay at home in
Sattur.

(B) How are you, Velu ?

(C) Hamlet, speak no more!

(D) Add two 5’s and four 2’s.

Match the Phrasal Verbs under Column A with their meanings under Column B.

A B
Phrases Meanings
(a) break down (i) end a relationship}'
(b) break into (ii) to escape from someone’s grip,
(c) break away (iii) stop working ,
(d) breakup (iv) break and enter illegaly ¢

Code :

(a) (b) (c) (d)
(A) (1) (wv) (1) ° (21)
(B) ‘(v) (i) (1) (i)
(C) () (v) (if) (3)
(D) (v) (i) (@) () -

In Litotes, an affirmative is conveyed by negation of the opposite, the effect being
to suggest a strong expression by means of a weaker. It is the opposite of

Ex : The man is no fool.
(A) Synecdoche (B) Metonymy (C) Hyperbole (D) Pun

Choose the correct American English word for ‘tap’ :
(A) Fall (B) Wallet (C) Faucet (D) Cookie

Pick out the Idiom which does not match with its meaning.

Idioms Meanings
(A) To be at logger heads - To disagree strongly
(B) To be on cloud nine - To be extremely happy
(C) To give a piece of one’s mind - To behave in an unnatural way

(D) To be at the end of one’s tether To have no power or patience

Scanned by CamScanner
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67. Edward Lear’s ‘Tl
1¢ Duck and the Kangaroo' is a humorous poem of a kind known

ey F————————r

as .

(A) Blank verse 5 i "

(C) Nonsense vers imerick
TRReR : (D) Octave

68. Write the. opposite of the following :
T;c r'ablzrlt was eventually caught. |
(A) incidentally (B) spectacularly (C) initially

(D) uneventful

69. The word Vendetta’ is borrowed from the language

A) Itali .
(A) alian (B) .Spanish (C) Sanskrit (D) Latin b
70. Name the poetic device used in “Murmuring of innumerable bees”. |
(A) pun g
©) i (B) hyperbole P’
) irony (D) onomatopoeia &

71. Match the adjective/ adverb/houn phrases under Column A with their kinds under

B and identify the correct match.
Column A Column B '.1;
(a) A boy with blue eyes (i)  Adverb phrase |
. (b) In a beautiful style (ii) - Noun phrase '
(c) To do such a thing (iii) Adjeetive phrase ‘l
(d) Living in dark stables (iv) Noun phrase [
Code : '
(a) (b) () (d) - | -
@A) ) @) @ () d ¢ &

(B) (i) () (i) ()
(€) (i) (v) (@) (i)
(D) (i) () (@v) ()

R

72. Find the incorrect sentence :
(A) The queen bee, with her work
(B) Pinky, Lilly and Sheela go to the same school.
(C) Either of the two boys has done this.
(D) You, who are my friend, should not blame me.

ritish as well as American English and choose the incorrect

ers preside over the hive.

o T ey bt e

N E o~ iy S e

73. Read the words in B

air.
g British English American English
(A) Pedlar - Peddler
(B) Visualise . Visualize
(C) Center - Centre g
(D) Honour - Honor
[ Turn Over
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7.

78,

76.

77.

78.

79.

80.

81.

82.

N0 00 A

The alliterated words 25¢ 2

(C) ran, moon (D) ran, 25, MOC

"“We run us If 1o meet the moon”,
(A) rany, mest (I$) meet, moon

The word Purke’ is o
(A)  Heterophone
(C)  Homophone

(B) Heteronym
(D) H omograph

Fl

0" Henry was the ‘nom de plume” of : '
(A)  William Dlike (B) William Shakespeare

(C)  Willinm Wordsworth (D) William Sydney Mases:

In which state the 'Hornbill’ festival is celebrated ? o
(A) Went Benpgal (B)  Assam (C) Maharashtra (D) Nagalan

Poetry written in iambic penta meters that do not rhyme 18
(B) Blank versc

(A)  Free verne
Full verse

(C) Nonsense verne (D)

What in the meaning of the word ‘Opulence’ ?
(A)  happiness (B) brightness (C) weakness (D) richness

Match the Adjectives with their appropriate kinds of Adjectives given below :

Adjectives Kindspof Adjectives
(a) #such (i) d@t};
(b) 'few (ii) tity

(¢) new (iii) Adjective of Number
() much (iv) Demonstrative Adjective
Code :

(a) (b) (c) (d)
(A) (i) (iv) (i) (i)
(B) (iv) (i) (i) (i)
(C) (i) (iv) (i) (i)
(D) (iv) (i) (i)  (iii)

Leslie Norris was a prize winning poet.
(A) Irish (B) Welsh (C) Scottish (D) American

A series of short detached sounds is called S D
(A) Limerick (B) Staccato " " (C) Octave (D) Sestet
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83.

84.

85.

86.

87.

88.

89.

90.

Choose the correct meaning of the phrasal verb “come dowm with” ¢

(A) to climb (B} to contract illness
(C) to meet (D) to come

A canner can can anything that he can can. But he can’t can a can, can he 7
Read this tongue twister and pick out the meaning of the underlined one.

(A) A person who preserves things in containers for sale
(B) Process of preserving

(C) A container
(D) Sense of ability

Which part of the given sentence has an error ?
Little effort has been done to solve the problem.
(A) (B) (C) (D)
(A) Little effort (B) has been done (C) to solve (D) the problem

“I hated every minute of training but I said, Don’t quit. Suffer now and live the
rest of your life as a champion.”

These are the words of

(A) Mary Kom (B) Mithali Raj

(C) Mohammad Al (D) Mi Singh

The prose piece “Living Amcaald en from :

(A) Wings of Fire (B) My Experiments with Truth
(C) Das Kapital (D) Unbreakable

The word ‘geode’ should be pronounced as :
(A) je-ode (B) ge-ode (C) gi-ode (D) ji-ode

Among the clover - scented grass among the new-mown hay,
What is the meaning of the word new-mown ?

(A) Recently cut (B) Recently ploughed
(C) Recently watered (D) Recently sowed

Choose an option with an improper structure :

(A) The old man walks his dog daily.

(B) She had always been short and fat and slightly bent.
(C) The war has been going on for two years now.

(D) Jim may be able to help, mayn’t he ?

[ Turn Over
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Ligngh -1V / PART-TV

Wfla-A / gECTION-A

: E_ s : ICS
SOMES wHPID ilefuic / MATHEMAT

wé;@lh efanrwieflda Geuais (g,

L\—\ L‘.". }\_‘\\!lul}\i\ li" \.:‘ }\ " . ¥ ) " {l{ll‘}u[" E"IQ’ 1 ‘
Y ot =) T\"\.“nk‘“ | L WITITGRT, Jlmmﬂ‘ﬁﬁl N ! ] t
Hli(lﬂ-"l ure compullory.

AND SCIENCE

There are 60 questions in all in this Part. All que
. i : : D [ - iFssD
°l. f:R o R -@ an Ty fla) =1 - [A] eréar u\\l(.B)IJllJmN'ﬁJLLIl-'@"ﬂngl Granley [ -
A) R (B) [1‘ ®) (C) (_.1' (ﬂ] ' (D) (- L] I
Let 1 R = R be defined by f(x) = 1 |y, then the range of [is !
" B (B) (1, =) (e (=L =) S b
92. 6+66+666+.. . @I QgrLféd apsd n p_puiLsaflen gnHBD HTeTs.
_ 3 [10010m = 2 [10010™ = 1) _
(&) Sy= B ———?——) - n] (B) Sp= 3 [‘—_9—"_' 2
_ 2 [10010" - 1 1 [10(10" = 1) 5
(C) S§,= 3 _T (D) Su= 3 ———-—9— =n
Find the sum of n terms of the series 64 00 +H660+. ... ...«
(A) sS4 3 [lo@o" — 1 2 [10(10n -1 n}
9

4 “ul } Bl Sa'3
©) Sy= 2 12(1_‘51_:1_)] a d
31 9 3
93. 2m uwelwmurf T 150 aisb 8
2 Qulguie o drer LPEISHT Cls HedlL e, Bg

eigbd apmeNRAmri, erefe SleUT DLy
#56085586) smms :

B i it
(A) BesLib 10.83% (B) Qeruibd 10.839,

(C) @GUH’LJLb 9.83% (D) ,EJQ%IL_LD 9.83%

A fruit seller bought 8 boxes of

. grapes at ¥ 150 .
damaged. He sold the remaining boxes at ¥ 190 eaC}ﬁ' Fruits of one box was
percentage. cach. Find the profit or loss

@pener Ll QUL sener T 190
@m”“.&)@ﬁ Sl g begLSens
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94. PO HENTHED ﬁ’Eb(‘]‘-”r(!,[,‘g.l Gy irena 3 ¢ 00 (ol Graaleay, 1 el 5 Jf’“ﬁ“—'ﬁ“ﬁ@"ﬁ@

95.

96.

97.

Gne BBl wpereflD@ib 1wemf) aparaflpesib @)enufled o irerr Genmenorid ereorcor ?
e (B) 90” (€) 92.5° (D) 95.2°

If a clock shows 3 : 00 P.M, now, what will be the angle between minute hand and
the hour hand after an hour an;l five minutes ?

(&) 120° (B) 90 (€) 92.5° (D) 95.2°

ge urseflurdgydr o pisHlow g b )0l éor Qureps &0 QU I 6V & 6T
QupsswanL_aifldama)

(4) QgeviMgsar Qprdadr G)moaipmd

(B) evaurevsaild @O&8) Lysphisdr G)HLILBND

(C) eeuyav @BCanmbadr QumEmLE®LAIBDEG,

(D) Wamrevdl ‘DNA’ encugedlesr DNA -anel Qo wcdlpdHsF QaieuGTeD

Why new phage particles did not produce in bacteria during Lysogenic cycle ?
(A) Presence of Restriction Enzymces

(B) Presence of Repressor proteins in phage

(C) To Multiplication of phage genomce

(D) Plasmid DNA deactivates phage genome

052 —3x—1=0 areny FwenuT_igen pabikise ‘o wppid B erefled o2+ B2 -an WL
wng ?

4 13 13
PELAC JE— D —
— i addao L by
If « and p are the roots of the ¢ . then find the value of

o? +B2.
4 13 13

Al = B) — (C) 183 (D) g

2issam_eupmer agl owsGeTmyaT LDOIL Seuprest sahOTEL :
(A) sias sray Cais@HE sl wpmID Ferr auPREGEDS.
B) Ao sreuyhsaild auerisflenws eas@esEng).

(C) ey 2udi 2 JBIGTTE Qawau®&lenparn.

(D) wandidmEE5HD UHG Qumlemper.

Which of the following is wrong about Mycorrhizae ?

(A) The minerals and water provided by fungus in roots.

(B) They induce growth in some plants.

{C) They act as biofertilizers.

(D) They are used in Soil reclamation.

[ Turn Over
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A0
(S L S
\}“‘ ‘\\_\\“}1.-'\ ,.\'.& A3 ',\':\\‘ ' N
AN ) “m:‘\.x 0)
Lo o [ A (1) ) coneel

, () A uind
\ \) Y NN O l‘ t) H ‘\\Hn

oatiate o

WRENY @) S

F- i ! 1)) 2 conecl
n\ \‘\\\;n (\" 'r! “i“" ( F
(Al 2 s () 2o

. - v oot Ghomenirt
oy (i daatledt @ aint oot i dh (He - ool old
0, a2 & afalww Wi e iy b in b

3 ALY = o} \.\J r
iy N 8 D) 7
AN N () 1w () b . (D)
e mumber of moler of 52 R of He i (molar masy ol He=p) :
AN : ‘ ) r
A} W3 (13) 10 () 5 (D)

100, Quiradandy sUgLddar o s ayha G u{ﬂ.qpelilmgﬂ. c?m.@urr@srr 3
QR udd syl L BB WLy ALY o WyGoeiar ? (SIS —enLiL
Lndsalas) (2=08 ms A
() 401 m (13) 41 m (C) 0. 4an (D) 434 m
I the object As dropped from the tog dl { it reaches the ground é'at

t- 3y, then the height of the lmildina: ( esistance) (2=9.8 ms™%)

(A) 401 m (B) 441 m (C) 464 m (D) 43.4m

101, 5@ @Al § em i, QRIE@sUIGLITd V3 LG e-wrphd Csrar 45
S Qgal QU SO LS@E @y GOHIINNLL Sara|drar Ol L&
Qanrard swnfladpnd, Qs w@ara)] GaLuumsmu Qarar® 2 cm <2 T(PLD
0.5 em 2 wrEnd QETQL. Qi SQUIUTSHHILGT Fnlgll 2 (HEN6T GUg6U FneHL SeT
TSR aIrrd surflds @ugih ?

(A) 30 (B) 75 (C) 225 (D) 10
Rahul has made 45 conical pen stands, of same size, with the radius of each is
being § em and their heights are J3 times their radii, by using some amount of

cardboard. How many pen stands can he make by using same amount of cardboard
in thc‘shi\pc of eylinder with base, if the radius and the height of each cylindrical
stand is 2 em and 6.5 em respectively ? (In both the types top is open)

(A) 30 (B) 75 (C) 225 (D) 10
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‘“'.J1_.;“'1.1‘..-!“-‘.\{'\\|- Gl el Lt‘\laﬁ}u“:‘.’.ﬂ“ﬂ“l‘-ll.,Fhiﬂ“(i\ “'l"'ﬂ)."-»ll;lw- ,;ﬂ)‘tmlﬁl—‘-luml—lumgs 55““__@5 :

(AL Blemvarnin o shan G i s iy (B) e & L QSET

() e TSR b ey (D) Quein ACWITDSET

P out the i“”ﬁl'ﬂ\\[ form of sall l.\l‘j.!,tlllt‘"(‘- from the following :
1Al Uiyoxysomen (B) Microbodies

() Hphaerosomes (D) Centrioles

PO, o ok ntiley Heann Hmh N FHa N 1_;.&\11_51&& o_GTATRI. a{umuuﬂlaﬂ‘@;bgi] R
e e Fifhem st (N1 (D 61 .lh]‘-‘hlb\‘b-"i“"l @ Naniy ‘Lb‘lg)f_l UHS GT@l:Jl_lgjﬂ‘JéSﬂ'@T
hlegyttatiledl cpabnnn 1 mig, srefld ._ﬂ)ll:l‘l.-mull‘ﬂ5-1)]\511\31' fev Hipw upgisatlan TeTailEs -
(A) 20 (1) 10 (C) 25 (D) 15
A bt containg § red balls and some blue balls, 1f the probability of drawing a blue

bl frome the bag is thrice that of drawing o red ball, then find the number of blue
halla (e the hag,

(A) 20 () 10 (C] .25 (D) 15

|tlal‘-*'|7l1"w Glantr (e o (Deiran airddlwmsalld (A - D) oupret SaDED (Bgar'r;b@gs@.
(A)  hleonn B @enmiigh eoraia] L sdhong Gl HETang.
(1) Gl hleongfil @i iendn miogllseia Gl EANEFAEY
() hleonrfii A" By Adarinn L QurEgeic) QunghLsear Q& TR

(1) hleon Bt gy Plen Puanb

Hindy the four statements (A - na-dldlanlect the incorrect one out of

(e,

(A)  Lymph containg less protein

(1Y) Large lymph vensels are finally opened into artery
(') Lymph curries nhaorbed fal

() Lymph is tissae (o

HO8, yuom Clarah sl llyel (::;:J,n|'| 1 90 1, ﬁ‘\ﬂlln oIty 75 . DB TS L_GTerg).

. B " ! % ey an ot s .
cop et 1t B (0 cof DAl GHITE BN bl coemodsG g sralléd Lrengufen

gt ekt GlamdAGi - Aldy TR

(13) 0,085 Qan&Quir

() 6750 QamiChi
00 m long and 75 m broad, A path § m wide is to be built
[find tha area ol the path in hectare,

(1Y) 0085 hectare

(D) 6750 hectare

(A)  O.0O7H f:.lw‘q)siafﬁl..li
() 0,860 GG

A rectangular garden 18
miteide and arovund 1t

(A) 0675 fpectare
(C5) 0,150 haclare

h | Turn Qver
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106.

107.

108.

109,

0

42
2
gfangHzOz(g} :ﬁ jiz{p;o F;f;zﬁgrl po— —— g B> g keligeiis
FEETUIMLlg
;()Wi :G]g 53 (B) 50 Q.8° (c) 75 Qs8> (D) 100 @&
gl}'j)iif, :rhzu? i{::‘l}u;x:f ﬂffvgo}l{j:l(f of oxygen needed to burn completely 50 e’ of
at)?th:;cc::; (B) 50 cm® (C) 75 cm® (D) 100 cm?
@ an v gl 5 el o @rer STUY Qedsarrd allFgGersns Qe By,
SITEHTLD

(A) RUBISCO woppith NADP wanapt-GrrgiGanav Gaama
(B) RUBISCO wppitb NAD wangnt-GrriGanav 2-am®

(C) RUBP wppib FAD Gleen®
(D) PEP wpgib ADP @)eaned
Guard cells of leaf stomata cannot Photosynthesis because :
(A) Absence of RUBISCO and NADP dchydrogenase
(B) Presence of RUBISCO and NAD dehydrogenase
(C) Absence of RUBP and FAD
(D) Absence of PEP and ADP

7

Epsaam_aupflé 6rps @eure b Mﬁﬂl@bgmﬁn@@umrm@ ?

(A) n=0, [=1, m=2 B) A=1,17=0,"m=0
(C) n=0,1=0, m=1 (D) n=1,1=1, m=0
Which of the following sct of Quantum number is possible ?
(A) n=0,1=1, m=2 (B) n=1,1=0, m=0
(C) n=0,1=0, m=1 (D) n=1,1=1, m=0

1,2,3,4, 5 gpflweupfler 'L eflwissn 2 erefld
h 2 erafléb 51, 52, 53, 54 -
lleovss eurdss Frraf GTEILIg) : » 55 g flweumiblen

Aa) V2 (B) 4. (€) 2 (D) 50+.2

(A '
) JE (B) 4 © 2 A
a7
V/ a/
6 /rw/( V0
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10. GO (5845 1ttrmi, 7 4. ’ ’ ‘ -
: yallt Bggpen f : ; ;4”’?‘ A Lt T 10, 4 gl il 7 BO0 -gg CallgAlpmT.
- # ) 73 7 “’ - % : P p

aifr Coifk At DI, gt it wiblamdid G _fifanid, 25 -eug) wrsb
oy b’!lﬂé;ﬂym Gl |
i AL TN T PR

(A) 2650 b
A ]” ; (1 2410 () 2540 () 2560
nan has saved 2 g : w
2 200 in the I’h;:f ;; ?4?} du[' ing, the first month, 7 720 in the second month anc}
. ; A ’ I I’f ". f }"3 : ¢ ¢ P ‘ ,‘ ¢ . at wil
be his savings in the Dath nmm}lf{;mlmum his savings in this sequence, wh

’FS‘ 4 ’ A
(A) 2650 (5 2450 (C) 2540 (D) 2560

» @)@ x + 120,

1

Gl wsp By by I 2 4
111, Zyeniiig s as B8l kaumni's 1y som i ? e
' Y - AN A ‘ ) — —— -.},, e =3
. P b bhba x+1 x+2 x+4
x+2#0, WBOHEID 7 44 205,

(A) {2+ 2/3,2 - 2[5y (B) 134 25, 3~ 23
) 1~2 4 23, ~8 - 2/3} (D) {-2+ 243, -2 - 243}
2

4 : ;
b ol - ’ " £0, x +2#0 and
el .. o . where x +1 _

z 44 10 using quadratic formula is :

Solution for the equation

(A) {24 22, 2=2/3)

€ {-2+ 24@, 8= 208}

————— e ————

12,12 + 12 4 N2+ =7

(A) 3 (B) 4 (c) 6 (D) 6 -8 2P BN

e r———

[ )
S12 4+ 124 24 =7
;6'

) 35 3 4 (B) 4 (C) 6 (D) greater than6

/

2 Grin draflaaflan 51013} GJ';_;,rmcnf@,m:n @Gf’mfﬁu.l 6, =1). (L, 3)
Ciogyth P = QR areflin ‘o’ ~@)an whllianud sners _
“3’ 5 ~1 C) 4, ~1 (D) ‘}’ -3 '
‘' such that p) = QR where ff, Q and R are the points whose
~1), (1, 3) and (4, #) respectively :
5y A= (D) 4, -3

113, 9, ) wihgb
g (a, 8),
(A) 5, -3

Find the value of
coordinates are (0

() 8, -3 (B)

5, ~1

[ Turn Over
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114, £ SNTEOLD ,5@\@&! Toup HEeni_uidy llu.n(.-r.nlm| hlt}'J,IlHHml Ill_plll-'hml -'Ja!lfffILJU()'ﬂfﬂﬁW
N L e Aoy Lipibmanieh 1’ ()in B I Elysy.
ATTSRTD - Quipavswins walliby saoilsanar Cuidd) 1 rdmer itk DD,
A) e awens SEmES) wmpid wivgenrid @ aor (b o), iy 2_sdorenins, BATEAD,
al DTS KA.
B e oveowns smEsy of) @@ s peontd afhwireor ailenduih .o,
) e avens smas WRDID S FTh @i gap).
D) 5;."‘?}:5@15 “xT[TtNY\}J.\ln a1l <9, Garir &) n_ﬁmmln Jﬁ())jﬁﬁ){b ?}}lff}'mﬂlb '?rﬂ'Uﬂ"BS
Mardsaldan

Assertion :  In fruit stall, many types of fruits are present,  But fruit flies are
attracted by certain type of fruits.

Reason Fruit flies are attracted towards fruil that are naturally ripened,
A} Doth Assertion and Reason are true. Reason is the correct explanation of
Assertion.

S} Assertion is true but reason is false.
(O} Roth Assertion and Reason is [alse,
g

Soth Assertion and Reason are true but reason is not correct explanation of
Assertion. -

115. P ="+ xS0 8n Qm Hulg. UQQIQ |5 Caranal x-- .o fone Qeu Qo Lerefseafen

,% :
Jost

B) 2 (€) 0 (D)
"‘:.e number of points that the qundu cp mmml X2+ x+2 mlersccts the x-axis
ISUN | (B) (D) 3
116.=0m1 1: pud Fdor wsarﬂmu:. o_arer Qun@massmmu_qm Heneenw & mLLmod
LTTEGED 31..\1 Q..\:aIT(\NL&.]
=001 2 : 7D 2f7 Crrada QLgisa apaid gy QuimmenarLb, QUGLSIFHET pLPEILD
"\“__,__,

® SuTmHaTWD LTS Quigb.
A) &« ar@r_} =

B) Qrar@v ga_;_m
{iC) 1

D) 1 zam,

Statement 1 : Rnbhit can see all the objects around it without turning its head:

Statement 2 : Rat can see two objects simultaneously one through its left eye
and other through its right eye.

eSS ﬂot’a are correct

(8] Both are not correct

{C} 1 correct and 2 is not correct

{D} 1 is not correct and 2 is correct

!»J
ool
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} | T INBTRUCTIONSTO RO or "
) 1 . e R Answor ST I & .
. I f TR S e L e :_:sh:m rolovant cirele. once darkenad, changes e IR \ -
oWl

i i ohooes e eonoc y ol shac
w el 1 option and | circlo 08 given bel
— o~ ol N

b I rnmmigtoly Without touching tha nox

RN AR A as cps - 2

Al TUREES

i sShFasaT_ (B

(@) MNewno menpiiy (i)  Hfo

(b) LoD (i) &mié

(€) iy (iii) vrereLss 1

(d)  wall : :
(&) (b) (c) (d) SESEEREES

(A) (1) () (i) (i)

(B) () (1) (iv) (i) |

(€) (v) (i) (i) (iii)

(D) (i) (1) @) (iv)

Match :
Type Example

(a) , Solid Foam (i) Cream

() Emulsion (ii) Cork

(c) .l?onm (iii) Cheese

C(d)  Gel (iv) Froths of air
(a) (b) () (d)

A) () Gi) () ()

B) () @) @v) (i)

(€ (iv) (i) () (i)

(D) (i) (i) () @) ' \

118, H,P,0, - o-6Tar F&HE salIQenauliLselern crarTantiEams |

(A) 1 (B) 2 : (C) 3 | (D) 4
The number of Dative bonds in H4P;07 . =] -
(A) 1 (B) 2 € 3 (D) 4
. .I [ Tarn Over
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R i
ZWAEE B Ty,

1
5

-
oy

g q

fe P} ar

119.100 -&@EWL 300 -&@Ww Glen Cw 14 -246 aur
(3D ereman 7

\

T 1£14
L 121% (i) 24214
(A) 2842 (B) 4116 (C) 121 S Ee
i T T s S Y v e
: . 100 and 300 82 222 CValie
What is the sum of all natural numbers between 100
14 ?
(Dl 1414
" .-L-if 7'-4';' 2 250
(A) 2842 (B) 4116 (Cj 1218
= g L
s . R, - sl A5 mEs 2000 _3 2T ES G ...,-‘-,-f;-;_f:’-:'.:
120. a1 Si8Cus Cunt eBwreard Eanjol L 555725 300 - e 4
I Crind &0 sa05 Cof Cieorss 5. 55 ~= SEA T 2 EF L 7=
&@GGUELJ Gl_lﬂ'ﬂ' €L..LOIT€€?;5‘D;; =ioh CIDanEs SL 22 — P

-
5 oo b i Lo i o — o o whder 05 Catariss
sy w556 20 GHUG L yaeids GEZ Balpler g 00

SR b 255 Cerido Brar rasy Curt eurars wima
YeomCuw 60° LOMIO 45° erafids g5 227555 Grdr g G ] " e
j 3 G o C] P ¢ 21 e 'E-:-(:_— GF}I_‘_:.T_;;'_ Z.T"':‘a'ﬁf,:_:-':i ‘:‘.')':'5{#-'2‘.‘.‘:) jf-:
@ LGurr eflwrens sSwapilhs Sl 2z
= AT

(V3 = 1.732)
(A) 12608 (B) 1268 (8 (C) 1264 & (D) 1222 .2

WET Zncthes
fighter at an instance when their angles of elevztine from the szmme _r,-':;?f-:—*' i
point are 60° and 43° respectivély. Find the distanee. of the first jet fighte

the second jet at that instant. ((j3 = 1.732)

(A) 1260 m (B) 12683 d d a - M) 1222

| 121.gdiQaun Crev Nsazen Cprduyb DNA Wasmamy G)is G 386 s 22-
(A)  genseflen werensefis

A jet fighter at a height of 2000 m from the ground passes directly ¢
jet

(B)  Bsmse usHu9e
©) &iss GHuar BisafiCure aflensulic
(D) DNA -efigr N5 E)6)

Each Restriction €nzyme cleaves g DNA

molecule only at :
(A) the ends of genes
(B) methyl groups

(C) specific Nucleotide sequence

(D) center of DNA molecule
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122. SLp&a e 2D G D saf g HmBrEGTLIFFD Grmulen 2NGH B ?

(A) s Qrés Corans (B) @rss Heuliugnbaatien Slengay
(€) U”'Gﬂmé@gﬂu_lrr (D) eRTaRtyed I&&LD

Which one of the following is not the symptom of black water fever ?
(A) Severe anaemia ' (B) Destruction of Erythrocytes.
(C) Polycythemia (D) Enlargement of Spleen

123. sflurer g@eanenms CsibAs( :

(A) @G'Tr_rm@a’dv - Sjamew smaTL GYpd — CapaGa eumaeray — Cszfiso

G

(B) @emmomaay — GanaiCa aumera) — SI@T@ID GHET GPRD — Csaflss D
G

(C) Caafé@b Gwd — OapaGe aueare) — GETTOHRE — SIEHTENLD S (HaHTL
G ———

(D) (GETTO(HAVED — S|EMELD HHETL GRa = Gesfiagn Gy — Capate
GUENETEY

Choose the correct seque:ice.
Glomerulus — Proximal Convoltited Tubule (PCT)"= Henle loop — Collecting

duct.

(A)

(B) Glomerulus — Henle loop — Proximal Convoluted Tubule — Collecting duct.

(C) Collecting duct — Henle loop — Glomerulus — Proximal Convoluted Tubule.

(D) Glomerulus — Proximal Convoluted Tubule — Collecting duct — Henle loop.

aul L augellorar @6 sTolrs sbidulér <yrid 35 A2.8. @F @ a7 Qigdd
aepaTéssLILIHE DS srefley oIFESHTESE LEGEMSSH STams |
(C) 62 Q&.i8 (D) 70 Qs.8

124.

50 Q.18 (B) 55 @5
e is in the form of a circle with radius 35 cm. It is bent into a square.
e of the square. -

(B) 55cm ~(C) 62cm (D). 70 cm

(A)

A copper wir _
Determine the sid

(A) 50 cm
[ Turn Over
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1 ! INSTRUCTIONS TO CANDIDATE

T

125. e . Canaiimelen sl inen shlanssidlpen siilon
(1) Moo= the = M

CPS -2

(A) Mg > Ca > Na
(C) Ca > Mg > Na (1) M = My~ 1

The correct order of reactivity of tneluls (o wintel (g
(A) Mg > Ca > Na (1) Mo = = MY

(C) Ca> Mg > Na (1)) Ma = My =t

Moo d 4l \ | i) T ';"H * :hl

. - ; p s\ e '
WAl : e o |_,V-/,L‘] (.4 ) ( é)
(A) +1 e B -1 () ),

The value of k if the straight lines Gx 1 Oy 170wl o d legf= 5 e P e e nday
is :

I
(A) +1 (B) -1 (C) 2 (),

() e (I TN (st el 1)
iibimg ) Ay a7 1 alonhey)
atiemli ¥

127. enp Ceusuglenan 20°C ~coym B)aysmi
2 _gzmey 92°C -ellmibg) B8°C alony f )
69°C @aflireuent 1w ereueuena| (o) [ J

)

(A) 48 eflanmiy (B) 84 ahlaonny, (C) 24 alilanny (1)) A whlaniin

A pan filled with hot food cools from 92°C (o B8°C in 2 minutes whan the room
temperature is at 20°C. How long it will be talken 1o cool from 7 1°C (o oU*c )

(A) 48 sec (B) #4 sec (C) 24 nec (D) A heo

128.swwiluy dlen gen (R) zeni_i n 1lén ment s G Mamem 0| hminh b
Gevermu86r Glenombuiub feanms). oo Gl entaniet 100ahi et malleb
ez h
(A) n/R (B) n%:1 (C) 1:n? () ®¥/n

When n resistors of equal resistances (R) are connected in seviss and parallel,
the ratio of effective resistance of series and parallel |4

(A) n/R (B) n?:] (C) 1:n? (D) W/n

|
P

1 - e e e e e el i) i . s e N e i il M .
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129. l—'"@,&:@&

(@)  wemTeh whmp SHin

(b) S CLrren whmb B

(c) Bmger

(@) 2uy whgb Fi

() Bir whmi> wenQemen@emi,

@ b (o) (d1- (e)

B) © @) () @ (i)
B) (i) (v (@) () v

(C) (iv) (i) (i) (v) ()

(D) (i) (iv) () (1) (v)
Match :

(a) Sand and Camphor (i)
(b) Acetone and Water (i)
(c) Pigments (ii)
(d) Salt and Water (iv)
(e) Wateli and Kerosene (v)
| (a) (b) () (@) (e)
@A) (v (v @) @ (iii)
B) () (v @) @ O

© (v) @i @) © 0

O) Gi) Gv @ @ O

(i)
(ii)
(iii)

(iv)

49

smilzH agssd

rd
augnemindflens panm ¢
Gfyera
Qenens smiis5 algzse

USEFIDNEE) (o).

Distillation

Chromatography
Separating funnel
Fractional distillation

Sublimation

[ Turn Over
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; brog eltatren
130. Semsurmul LLHHW &1 4000000 a gy thimsll 1 slrotre

14
b
"
L]
b
[#)
Al 16 (1) 20 ¥ () 12 (L) 8

Count the number of squares in the following figaro,

(a) 16 (B) 20 () 12 (D) H

(z)  weagasrarsation el Cosons Gadeib,
B mrousd dis snihbld Gyreil dab DU 60 w O kaltdidh) @EmDULD.,
lc) zaifs anpdl fymeblublen aia ' TR A RRETRART | R TS
‘dy mrouzl Las srphla fyreblllan sera oifewmernd <O HOD ) LT o)
FEODULD.

(A) wimb (b) (B] (b) whpb () (C) (c) whpitd () (D) () whpd (d)
Which of the following statements are false

(z) In a2 rainy day sound travels faster,

@) In 2 moist air the water vapour quantity is less and its density decreases,
(¢} In a dry air the water vapour quantity is more and its density increases.
(d) In a moist air the water vapour quantity is more and its density decreases.

{Aj (a) and (b) (B) (b) and (c) (C) (c) and (d) (D) (0) and (d)
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ﬂg. u&_‘ RITG&!T- G‘GT : 3 T A
'3 S8ar udstusar 10 eraflé BT LPE®

P ~ %

LI T .
ot ereforeafldent, .

@ L 1BI

A 2 .
‘.] (: (B) 10 () 30 (D) 96
wh p: vgon has 10 sides, then the number of dingonals of the polygon is
i, = (B) 10 () 30 (D) 35

PRI INCIIRL

133.ABJ[CD and CD|[EF upgeh EA L AB Guogib £BEF=55" eranflev X, U
STWES.
= \

| ﬁ_\‘ Dl/z.gs c’,( -
BF",/ v AL \‘64 .

i-,::i;_‘ e /,,37

I ! -;p ¢
(A) x=121°y=121°z=4% (B) x=123°y=123"2 =45"

(D). x= 125° y = 125" 2 = 35"

lC) x=127 y= 127 = =35°
f=55° find values of x, y and 2.

AB/|CD and CDIEF also EA L AB. If £ZBE

~

E

4
(A) x=1218y=121° z=45°
(C) x=12Ty= 127° 2=35"

134. oy SHWISE QurEwHSISDS

TELTaT SLSS saiflal - el CLirsramiwir

(A) snmi_@L.:rsrrafaTLrﬂum

(F) SI66) 2 Loaa)

(B) emDL'_GL.rr&arréoTL'_iﬂ ur - Cuolfsa
(C) mml‘_GL_rrsrra?m‘_rﬂlurr - HavQuiGeat
(D) o Cursrarcfiwr - auig Gy mom

Which is correctly matched - “Electron Transport gystem In Mitochondrla” 7

(A) Mitochondria (Fy particles) Inner membrane

(B) Mitochondria - Matrix
(C) Mitochondria - Cisternac
(D) Mitochondria - Stroma

| Turn Over
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% TR

135-10g2x+log4x+log16x =% erafléy x -em Wil :

(A) 4 (B) 2 () 1 (D) 0O

If 1°gzx+10g4x+logmx =—;—, then the value of x i :

o (B) 2 © 1 L

136. sreurgdler Ceourr -
Q) Cpir geflésriuemsay permed erdli el Ly srTUemnsey
(if) Gy yeQlriiy FTTUMEe| Zy,anmd erdii geflFariueansay
(iii) erdlir eflFeTiLmeey e Grr_ﬁr'r B sriuensey

(iv) erdlir Bir eriusenay < anred Chir gefléaniuamsaay

(A) (i) wOmb () -b &f (B) (i) wpmyb (i) -b &

(C) (i) wHmib (iv) seum (D) (i) whmyd (iv) &f

The root of the plant is :

(i)  Positively Phototropic but negatively geotropic

(ii) Positively geotropic but negatively phototropic

(iii) Negatively phototropic but positively hydrotropic

(iv) Negatively hydrotropic but _pogirﬁe}g ﬂm;g;,ropxc

(A) (i) and (ii) are correct gu [ (B) [ (ii)| and liii)-are correct

(C)  (iii) and (iv) are incorree® TB] : fﬂi; and (iv) are correct

137.10 8 gyib wpmd Heved 2 priteys Gamsid 0.64 Qeraim, #flawwrer el Leaugeus
FMENED RETENM &H(HFI%. 2iFaTaneudle EPETm) SriTger A, B wOHMD C wermGuw 5 ms~1,
14 ms™! and 7 ms~! GaussHa Qeaddlemar. @eupmer THSESTIT UL 6ulgeus
srepadler QeagbGumg FmIGE efl(pd ? (g=10 ms~2)
() &mi A (B)
(C) amiC
- A circular levelled road of radius

Three cars A, B and C are travelli
respectively. Which car will sk

& B

(D) Gadyer ergiab Giene

10 m having coefficient of static friction 0.64.
ng with speed 5 ms~1, 14 ms-! and 7 ms-!
id when it moves in a circular level road ?

- (g=10 ms~—2)
(A) Car A (B) Car B
(C) CarC (D) None of these
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‘@Pfg VDLYS Carereusafier 5.6 wppip 15.AUMD GOPGL x+1 Wi
; ta““%m RO LOQINIILE Carena 13+ 1 aralldd LHAPTETEDE SireiTs,
(A) —1)(x-1) (B) (3 =1)(x +1) (C) (B+1)(x—1) (D) (x3+]](x+1)_

Exe GCD and LCM of two polynomials are x+ 1 and x®—1 respectively. If one of
€ polynomials is 3+ 1, find the other.

a) (8- 1)(x - 1) (B) (>3 - )(x+1) (C) (x3+ 1)(x=1) (D) (3 + 1)(x +1)

138.

139.

140.

« LLOMIWL B ereuan 3x2-4x+1=0, erargld FLGTLMIG6M POBIGET erarfle

o> 2

g 'PDOID o Déwapen wponsarss CaTaTL QHUIGE FDETUT g e
SHNDES.
(A)  9x°+28x+3=0 (B) 9x2+28x-3=0
(C) 9x2-28x+3=0 (D) 9x2-28x—3=0

If « and B are the roots of the equation 3x2—4x+1=0, form a quadratic equation

o~ |3,2
whose roots are —B- and —.

(A)
(C)

2

o
9x2 +28x+3=0 (B)  9x2+28x—3=0
9x2-28x+3=0 (D) “9x? = 28x—3=0

samantit HMID STHHD WW <& THATTalliy FHLDeusHaTar HLbBSmasET .

(a)
(b)
(c)

(d)

(A)

geflureng saatiflelmbs s CFod Saler(Hid

geflurag sTHNSHHE Samam (hEE CFon CouamELD

g,szs'awa?rﬂsb L@ Caramgdlern wliL wrnfle Caramgams ol SIS @)(H&S
Geuaist(h LD

gearantier LGGCaramgSlen iy wrmlene Ceramrgeng ol G®DAUTS B)(H&s
Geuar(hLd ' :

(@) wpgd (€ (B [B) LHpt (@ (©) (@) wpmd (@) (D) (b) whgd (o

Conditions to achieve total internal reflection between water and ajr -

(a)
(b)
(c)

(d)

(A)

Light must travel from water to air

Light must travel from air to water

The angle of incidence inside the water must be greater than that of the
critical angle

The angle of incidence inside the water must be lesser Bt i atBof ihe
critical angle

@and (@  (B) Mland(d)  (©) @and@ (D) () and ()

[ Turn Over
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NIRRT
ST e sy saws CUNWFENGIS Are not H“OWOG, .._':___'-. l

| \ ' "\\' N L\
et el

w-a * S LT
141, 11 ey x4 em woimajdian gaay @odianm Qg1 GG e PTDIL_cin @é‘@@md}
Quimangig il 1olg S’ @) gy e E-QAESLILGADE). 2 manemuey 2

AN .d Wity
Pl i w 4 em arafléd wamaanfan s oo :
< /. (A) 38.5 cm? (B) 28,5 em? (C) 18,5 cm? (D) 48.5 ;3
r 1_,. LA : ’ . '
\ A rectangular piece of paper 11 em X4 em is |()l(l.0(l. “{lthoutl: overlapping tq make 5
cylinder of height 4 em. Then the volume of the cylinder is :
" (A) 38.5 cm? (B) 28.5 ecm? (C) 18.5 cm? (D) 48.5 cm3
\\ . |
192.a, b, ¢, d wHPD ¢ eram GHUALCILC L BB LHE) ST GlaucuGeup BIO&aTTE)

Qgrissed Ll @erarar. (b, ¢) wippib (d, ¢) R @der_lq-EGiT Blenay 1 esrafwicy el
cflewsanws o aurirdlear. i (a, b) LOHDID (¢, €) i Gamgaser Hlana Wenafg
&euirEd afenseani e auridlemar. Lifhg ‘d’ Gpimflenayr L ib ngb;ﬂ@;‘r;grrsb. U
‘@’ GuhBlmés Gouariqu uSlergyriib : '

’ (A)  erdlir Sergmri1_ib (B) G emgym L 1b
(C)  Wergyriiflemenio (D) Guopser._ oimangsib FTSEH WD

Five balls marked a, b, ¢, d and ¢ are suspended using separate threads. The
pairs (b, c) and (d, ¢) show electrostatic repulsion, while the pairs (a, b) and (c, €
show electrostatic attraction. If the ball d’ is positive, then the ball ‘@’ must be

(A) Negatively charged (B) Positively charged
L
g ¢ (C) Uncharged _ (D) Any of the above is possible
\ ‘\\X e~ N B
: W 143.11 Gg.16, 12 Qs.15, 13 Qs.15, ... 54 QF L Spduaipeny PopGL LS SeTaysamras
F QsrerL 14 sgriisefen Comgst LIy srers; -

(A) 4015 5.Q5.8 (B) 4155 .Q5.8 (C) 4515 8.Q5.8 (D) 4005 &Qs.8

Find the total area of 14 squares whose sides are 11 cm, 12 cm, 13 cm, ....... 24 cm
respectively :

(A) 4015sq.cm (B) 4155 sq.cm  (C) 4515 sq. cm (D) 4005 sq. cm

144. Blenere Qeul’ BHibGumg, 2 (HEUM@LD GumydEser :
(i) NO, (i) O, (iii) O, (iv) NO
(A) (i) wl G (B) (@) whgib (i) (C) (i) OmID (i) (D) (i) wHmbd (iv)
Gases produced during lightning are S ; |
(i) NO, (i) O, (iii) O, (iv) NO
(A) (i) alone (B) () and ().  (C) ()and (i) (D) @ and (i)
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Q’ﬂmﬂ .ﬂ ﬂﬂ!gll Il !gll T 55 PR

mus ' .
Brufleorirey urrgﬂesa;uu@th epitisaflar sflwrer @aareaws Cebos@m

A

((C: jﬁ;@aﬁlggﬂ?l@%@ . (B)  Rewrfic spinaser - menguiyed
Choose the right ‘fm'@g'fa) ; (D) @pwib - Apipred

(A)  Stomach {m(; {;lr'. Which are affected by plague.

(C) Pancreas ang ;teatmc (B) Lymph glands and Lungs

; RREr (D) Heart and Kidney

146.3 D& 56 ST G .
RESMTL Gatrife CumrmheTs peang CsibolsHEse b

(A ur&efy, Quicder ShHeng - DLETLGTAUTET e)Teueand
(B)  melen SUENSELILITL g W66t shHeng - g saEGLTe

(C) Lo(BSSieugd et Sheng - afuGurdQrLev

(D) urrbufy UMmSLILT g Wweller sHheng - cgiﬂGT'DI_I'I'I'_lq‘_G'D

Following one is not correct match :

0 (A)
(B)
(C)
(D)

Father of Bacteriology - Antony von Leeuwenhoek

Father of Modern Taxonomy = de Candole
Father of Medicine " 4 Hippocrates

Father of Classical Taxonomy - Aristotle

147. sapm) 1 : Aavifs &pCormpid aranug QewsBAn@o Barsrassn QoL Gu

Qrsssms a@551E Osdgibd 4puliaimes QIHs Gemusmar QsrearLg).

gpml 2 : Hearurd #HCprHmL 6Tz @sLsSDEn o Ladar Gp o mitiy

(A)
(B)
(C)
(D)

Statement 1 : Systematic circulation consists of closed loo

LOGHTL_QREIG@FGEGD QTSssms TDH5IE QFdaIbd @Lmil <2 GLD.
Fapml 1 & Spamed sapm 2 seum)
gabm 2 &f Qamd mom 1 seum)
gapml 1 HMILD 2 Saum)
gamm) 1 Hmid 2 &ifl

p of vessels carrying
blood between the heart and lungs. =

Statement 2 : Pulmonary circulation is a circuit of vessels carrying blood between

(A)
(B)
(C)
(D)

heart and other parts of body systems.

Statement 1 right but 2 wrong
Statement 2 right but 1 wrong
Statement 1 and 2 are wrong
Statement 1 and 2 are right

[ Turn Over
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148. Qar@&siiul L UL SH(mbE x+y+2z -R& SIS

4
o\b -]
‘go e .
~ ,_.bﬂ o
A
o/
(A) 250° (B) 340° (C) 360° (D) 270°
From the given figure find x+y+z.
X
9
z
30°
o
' L]
(A) 250° (B) 340° (C) 360° (D) 270°

149. @ ueaaflufley Quamsefied 1/5 LrsEpb, @paraailed. 1/4 UTSAPL 12 IWgEES
G@peurs 2 ararant. Larafludied Ludguh Qs wremssisaten erameniléEams 1000
crenid 2Héd QuaTEET 2/5 WG ey DgngirLre 12 g LHMID ASHE
S| HSLOTET CUIGIGTET LOTETS:sFEetl clanTenidams ereucueTa, :

(A) 770 (B) 760 (C) 670 (D) 660

In a school 1/5% of girls and 1/4™ of the boys are under 12 years of age. If the
total strength of the school is 1000 and number of girls is 2/5™ of the total, what
is the strength of the school, who are 12 years or more of age ?

(A) 770 (B) 760 (C) 670 (D) 660

150. 1825 2 L & aTpgé APl eramenans sl L (1p() UIESSLOMELD
(A) 21 (B) 22 (C) 23 (D) 24
Find the leas_t number, which must be added to 1825 to make it a perfect square.

@) 21 (B) 22 (C) 23 (D) 24
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au pEHile 60 clamaser o drare. ENETIHS! o anHED hlom_waflss CaadnBLo.
There areb60 questions in all in this Part. All questions arc compulgory.

91. 5%9‘556“7'.—6}-'&)@1@ eT8) Geupnest sad :
(A) @rien w8 apenpenws cunyanGameiahE Qunan(® QubBIT.
(B) © 1772 -6 5O&HST curhig el e gsemurrfﬂﬂf”ﬁm.{&l'
(C)  eurpenCGanevig e o Hésmawbilo Gyrfdard GuT pontAUDOB!
(D) eSellwib Cam_eni_ufen pHD FHenaenLo 2(@BHT aurrenGameiq Beh.
Which one of the following statements is Wrong ?
(A) Warren Hastings introduced Dual System.

(B) Calcutta became the capital of Bengal in 1772. _
(C)  Rohilla war took place during the administration of Warren Hastings.

(D) Warren Hastings was the first Governor General of Fort William.
92. UL iguwied - I - ULliqued - II o Lan Qurmpsd &GY Qar@HssuuLBHerer
GNS@smeans Qaram® sflurar eflan el Gaips0

Culigquieo - I L iguwiev - II
(a) aprUum (i) meanor®L Queim Hevev
(b) QureepssrGrr (i) QBr=bseTD Lie LD(H&SIOILD
(c) smelUmGE (iii) Gl&y
(d) OwsarerT (iv) 2(p5 Hlaomiser ‘

@SOS :
(@) (b) (&) () a a
(i) |

(A) (v) (i) @

®) () G @) (i)

© G () ) @)

D) () () @) @)

Match the List - I with List - II and choose the correct answer from the code given

below :

List - I List - II
(a) Harappa : (i) Dancing girl statue
(b) Mohenjo Daro (ii) Early Dentistry
(¢) Kalibangan (iii) Zebu
(d) Mehrgarh (iv) Ploughed fields
Code : .

(a) (b) (¢ (d)
a) (i) (i) () (i1)
® () @) @ G
) @) @ @ (iv)
D) i) @ ) (ii)

D
: : [ Turn Over
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apeurer&Qsmy. FHPUULL. [BTET :
B\ ié-‘fd farauti 20 (B) 1929 gswurr 31
(© 1930 ;\—\.-ab.ﬁ 26 (D) 1947 y&cl 15

The ti-colour flag was unfurled on the banks of river Ravi on !
(A} 1930 January 20 (B) 1929 December 31
(C) 1930 o (D) 1947 August 15

7

SRSRaers tuSUPES urgwe - I Y
L e - I Ul quis) - II
: i &

(8 vepalumiy () uafs Qedsdr el L8l S LA LSL_I_@ S
GoDY

(b) sdwerw i) ceopusl Hoase &P QUYL LY
ualgzsarsans efpalg)

) uaf (i) ud wHmb Qewsdr B sramLUGD APl
Srsgafisar

@ uasfSas (iv) Bidzef@er el 0.5 B8 L (5EG cgqgﬂa;m

SCE

A @ @ @ e

B) @) @) (i) @) ad d a
{C) (1) (m) ) @)

. D) @v @ @ @)

Mzatch List - I with List - IT using code :

List-1I List - I
(a) Rainfall (1} Ice pellets less than 5 mm in diameter.
{b) Sleet (ii) At below freezing point, fall as ice flakes.
(c)] Snow (ili) Water droplets clinging to grass and leaves.
{d] Dew (iv) Water droplets of more than 0.5 mm in diameter.
Code :

() (B) (c) (d)
(Al @) @ () ()
(B) (i) (v (i) ()
(C) () (i) @Gv) (@)
D) (v (1) (1) (i)

Scanned by CamScanner



iy
?’l

T e —

4

b
i | T o -~ -
ad m\."“m_a - --\36:... =3 -é"; & = = ~
A A A TOUETES QUaTTGETL e S Uary R@D
=i ‘-:,_."‘v—- b i = -
; EE N FEOGERTES o = : ~ » = - = ) > 2
~— A THE N -~ - W o™ L g
= o . E O WSNETGE SETT @araD | aRILLE GETETERD
1 iy — - = - ~
e &-‘:\a- ~ :‘\:\"—‘_‘m . - 2! = -~ - - -
R i e P e N s N . =B = - Frim 1 Fily. -
' e o SR CSTUNETHET QEF@D QEFD oFTULEE GETENE3ID
el g “--p\,_"\ e - Pz -~ = = -
| DRl N FOoOGETE = - - = 5 - - . - »
- a —\ T - % TR 2 = T L P Pl =, Py
ia oo o =R LWMETERETNES D S]] oA LLE oFTERE g
S o < "‘T i = - s 1
g xih‘\‘r‘_‘:\:‘frg,‘:_‘ - o T - - - e . P S -~
—— -— . . —— e - - -
Whiis s o =R ADMETEETASET SLAIVL LWETETIORQ :-'\‘_-.\_f!e;\{fi_‘
——t—l O 7 thRa ST - -
el SO0 i e el % v A A
) Taw SLOWImng s the character of Indifference curve ?
i - by T e —— -
~ Yl CUTVSES 1 ISCT B S e
=3 - - = = s ~ Umeal Uaasss
=1 IWD ws-x‘:‘_‘-‘“\b e = oy =i %
c Xo = =L5 LEENES Iouch each other
=1 4w A e -
WO Ing e — .
D) Bory STESACT CArves can cut each other.
(S — - :-E Sy =T > ™ . -~ -
—_— e \\:‘“C‘-’_ _:a_“ Z\"..“"“:_‘_:'?_“'ﬂ __\-:1!‘

18}
i -
)t

1
=
The M=t 2 ~
£=€ JlEntevidso Conven
(&} 1831 B)
Herarmih =S a0 :
UL HSPs@s Sursdss.
- - 3
Ulnu0 -1
. o .= =
2) Gawssi
- - Q.—.‘
iz ==yt %
{0} SFILDE
. - P -
{c) B =CGugi
- -\.____— -
d) Ssa
:F -
STER -

(e)
)
{11)

(a) (b)
{f) (1)
(1) (@v)
(C) () @) (@)
D) @v) () (i)
Match the List - I
List - I
Venus
Ganymede
(c) Meteors
(d) Ceres
Code :

(a) (b)
(i) ()
(i) (i)
(iil) (iv)
(iv) (i11)

{A)

3]

(a)
()

(c)
(iv)
(i)
(@)

(i)

(A)
(B)
(C)
(D)

(d)
(1)
(1)
(11}
(1)
with List - IT using code given below :
List-II
Shootng Star
Dwarf Planet
Morning Star
Natural Satellite

@
(i)
{111)
(iv)

()

(i)

(i)

(i1)

(@)

| Tum Over
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98. GaagaTaiis FH3 A SORHSULE Ve Rardmd T2 QAN ey
Sepul RETS -
a) eawee GBT SorEs Sres RN e
3 Gsfu STarE 8
() Saagm Sias CearausdT
D SER

MR ey
-;..er‘-r-_pu"“

D) 2= .:.agh\_

Which one of the § fallowming ow meathod T
aztiement O \.\\‘\"1‘1“

(£ Real Tixme Gross \....\_

minimum amount transter 18 T 2 lakh @

(B} Naticnal Elecmomic THHLE
{C) Electronic Cleanng Seraoes
i3 Payment Sermnc®

5_._:“‘3 e ¥,
IS ooy

99. @ESn SrfudPOULST FL
saooai usESE3 anl GslEng ?
{A) o2 B) 63 () ot (D) o5
In which artcle, the Constmuuen provides for a Vice-President ?
(A} o2 (B ©o3 (&) o+ (D) od

a&d) Tz 2 amraRuiant

(B) .B.O, Sysar

"’-i

(A) Cyoam el LTSV
(C) BEinoeR SDeITa) {D) IG S AT
Who coined the word Bmdme_rsm' Hotspo

(A) Raymond F. Dasman
(C) Norman Myers

101. 88 nes @pSwredar (s Qurzs Geisd BLHS BT :

(A) 1920 (B) 1925 (C) 1930 (D) 1935
General Elections were held in British India in :
(A) 1920 (B) 1925 (C) 1930 (D) 1935

102.8)p8wreflé GST (Goods and Service Tax) HOLAP@PUILHGSLILILL. BIGT :

(A) egLge 12017 (B) &eweufl 1 2017

(C) oo 12017 (D) wmr& 12017

In India GST (Goods and Service Tax) became effective from :
(A) 1St April 2017 (B) 1St January 2017

(C) 18t July 2017 (D) 1St March 2017
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103. &pssemL Ben g Ssemhiseaiics ora ey SIS

CPS - 2

(A)  Syram’ HUE (B) oi@e &6V HLO

(€) LA ® (D) Lrsit H6

Which one of the following fishing banks is not in Atlantic Ocean ?
(A) The Grand bank (B) The Agulhas bank

(C) The Reed bank (D) The Dogger bank

104.£C.3!€p Qerhssiiul Laiseflieo @bhdHu Caélw sriidrflan PS@ WTBITLIE (PSHED
Sioransenss Qaran(® upgeui Wi ? |

(A) L& Bre Geliy (B) ¢9. supwerflu oW

(C) Fayeuns Gerenar (D) resw Hr®

Who among the following moved the first resolution in the first se
Indian National Congress ? -

(A) Lakshmi Narasu Chetty (B) G. Subramanya Iyer
(C) Srinivasa Pillai (D) Rangaiya Naidu

ssion of the

) \
105. Qgen Qu(phIsL lled 2 eTem BhipLomar Sisl eTgl ?

(A) gmeum <{&LHl - (B) QgaenfemenEeis é{&@

Cm 2L E

(€) wiwurem s
in the Souther;l Ocean ?

Which is the deepest Trench

(A) Java trench (B) South sandwich trench

(C) Mariana trench (D) Japan trench

106. M8 LIGTEIESD, A LasEh @ Gu pubs e Larligsamasudian Quuwiir ereme ?

(A) uaSer 2L aigsoE (B) S&TLL0E 2 L Ly &ans

©) whsEs > | GiLIgEE (D) WHrasiuliger 2 Lau&Eemns

concluded between Yakub Khan and Lytton ?

N

Which treaty |
(A) Treaty of Bassein (B) Treaty of Gandamak =~~~ ..
(C) Treaty of Mangalore (D) Treaty of Srirangapatnam ‘

[ Turn Over
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107.96mau(pid sapmisaile LIQUGTL] LITGDaet airibbs) erfl | eraman ol .
i jorL_q0d 16 \afleh (01 (NG aInps dalgllenal.
(i)  LGUETRIGET DT LDENTLed Hl-D LiaBaafle 10 (o amps saly, :
(i) weuaTRISET QHrEHHUINs gal_LentnlILing anpdleonn fp}mswmﬂ'm ?,,mr;wr@u,.'
(iii) @eneu @u@mbLITGILD 10° qui_di@ wpmin 10° Quw -GGy ams5Ense,
@eLuul L ugsaild l-®G aimpdléanpe :
(A) (i) wEw & | (B) (i), (i) 'LDL_'@l.I}. 4l
(C) (), (i) wHmd (i) -1d &l (D)  DIHIHHID H@l[) -
Related to corals which of the following statements is/are correct ?
(i) Corals live only in the tropical scas.

ii) Corals live in colonies and they are a collective. . ‘ ‘
Eii!) They are normally found between 10° North and 10 South latitudes only.

(A) (i) only correct - (B) (i) and (ii) only correct
(C) (i), (i) and (iii) are correct (D) All are wrong

108.Csmeu efdullen elfafasms alarss gir. @urui &looLe
LwerU(R&H 2T,

UL 5605

(A) &rgmrewrLl LIGRTLLD (B) !:E{Q'If;]mﬂ)ﬂ.l ue;o"a"nﬁl.i.)
(C) m&Tel UL (D) @upas LD
In exceptions to the Law of Demand, Sir Robert Giffen deals with
(A) Normal Goods (B) Inferior Goods
(C) Consumable Goods (D) Natural Goods
109. QUT(HSSHS
(a) &G (i)  prEeuGTer
(b) eeu@flwid (i) prCsegyeur
(c) amirefadwen (i) QpmT(land b
(d) @&y (iv) Wﬁm |
GPUIE : -

(@) (b) () (d)
(A) (i) (1) ({1v) (i)
(B) (i) (i) (iv) (1)
(C) (i) (v) (1) (i)
(D) (@i) (i) () (i)

Match :

(a) Shell (i) Rajasthan
(b) Lapis lazuli (i) Nageshwar
(c) Carnelian (i11) Shortughai
(d) Copper (iv)] Lothal
Code :

(@) (b) (c) (d)
(A) (iii) (i) (iv) (i)
(B) (ii) (iii) (iv) (i)
(C) (i) (iv) () (ii)
(D) (i) @) (i) (i)
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110. SR&sanm enpasafld T B[ cumonanpas semsAGD P@D DD

(B)
(D)

uéliray (penD
eu(mLomen (LPenD

Which one of the following is not the method of calculating National Income ?

(A} Product method
(C)  Expenditure method

111.

(B)
(D)

Distribution method
Income method

LW - 1 - g uligwed - 11 2L an Qur@Bsd &G AaT@aEsLuBerar

SASPsmars Qsran® sfwren eflenenws CoTHABH :

U iquie) - 1

(a) Csilw Usennd Siliumu s (b

(i)
(1)
(iii)

(iv)

UL iguwev - I
1980
2010
2002
1986

adda

Match the List - I with List - I and choose correct answer from code gi.ven below :

®)  voien UTSISTUY &L (b
€ sDpéspe (urgismiy) s b
(d)  aer (urgismiy) sl
SV :

(@ (B) (¢) (4)
(A) (@) () (@) (iv)
(B) (u) (i) (@) (iv)
(C) () @) (@) (i)
D) () () (i) (i)

List - I
(a) National Green Tribunal Act
(b) Biological Diversity Act
(c) The Environment (Protection) Act
(d) Forest (Conservation) Act
Code :

(a) (b) (c) (d)
(A) (i) (@) (i) (W)
(B) (i) (ii) (i) (iv)
(C) (i) (iii) (iv) (i)
(D) (i) (i) (i) (iv)

(1)
(i)

List - I
1980
2010

(iii) 2002

(iv)

1986

[ Turn Over

Scanned by CamScanner



i TRy

CPS - 2 64
112.6tg) sflwrs QummbHujerers ?
(A)  ubumd SPSLD - 1850
(B) Qseenar G5 smisd ¥ 1884
(C) wyer sreugeang Fenul - 1870
(D) GQseanan Ww&TEME FenL - 1852
Which one is correctly matched ?
(A) The Bombay Association - 1850
(B) Madras Native Association - 1884
(C) Poona Sarvajanik Sabha - 1870
(D) The Madras Mahajana Sabha - 1852

AensliL®&S @MU sener

113. §pésramib eubsrismear STOWPOD SiLiuoLid o
vwetu® s eflenwefl&saLb.

(i) &gl aubgbd (ii) &I&ETH GUIDELD
(iii) =g absbd (iv) e&Fwg GULb&LD
GOWIG :

(A) (i), (i), @), ([iv) (B) » (@) i), (i) (iv) 1
(C) (iv), (1), (1), (iii) (D) (i), (iii), (iv), ()

Arrange the following categories in chronological order and answer by using the
code given below : '

(i) 'Khalji Dynasty (ii) | TughlagDynasty

:\} (iii) Slave Dynasty (iv) Sayyid Dynasty
’ Code :

(A) (i), (i), (), (iv) (B) (@), (), (iii)., (iv)
(C)  (iv), (i), (i), (iii) (D) (i), (i), (iv), (i)

114.0p&10g Yer &8l eThHE BaTS®ssS ‘BRIS BEILD’ TN DMPSSTT :

(A) GQLéved (B) @pogmen (C) &mye (D) &maTLy T
Which city was called ‘The city of Gold’ by Muhammad-bin-Quasim, ?
(A) Delhi (B) Multan (C) Kabul (D) Kanpur

115. Qereupeuanaundler eris Camamme samanfle) 10gas ‘@L;Jguﬁ) ?

" .
( J' eflwimiper (B) &afl (C) wyCremev (D)  QpLig.y e
Which of the following planets can float on water ? - :

(A) Jupiter (B) Saturn (C) Uranus (D) Neptune
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1 16.5 Qmmmemwmw qutr(

hbsIs

UL 1160 - I
(a)  @andCGavran "
(b) eN&wir -
ot e (ii)
(d) Qe &
GHUWIE :

(@) (b) (e) (d)
(A) () (i) (i) (iv)
(B) (iv) (iii) (ii) (i)
(C) (i) (@) (iv) (i)
(D) (iii) (i) (v) (i)
Match the following :

List - I
(a) The Hyksos (i)
(b) Viziers (i)
(c) Ziggurats (iii)
(d) Mencius (iv)
Code :

(a) (b) (€) (d)
@) () G () (iv)
@) (v) (i) [ (i)
© @) @ (iid)
(D) (i) (1) (iv) ()

65 CpPi ~ 2

UL igwed - II
Seam pimponaymad
\DITBTGAIT 2, (GTB BT 54T
Al 15 -cugy D5 2 Bhaman izt

Wbl euiga ﬂmmreﬁ]ué:m’rr

-adda

Provincial governors
The rulers of 15" dynasty of Egypt

Pyramid shaped monuments

[ Turn Over
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7. Shdsan_aipaop Qurmsss ) '
LWL 6D - X UL“!-“JGGO n;uJU
(0)  @apGrrfHlallQaev (i) G"Dafu =
) Auyelurin (ii) ;“ﬂ“@
(€)  amapyma (iii) &eurm .
(d)  LlEY uremg (iv) umiGamen
GO
(a) (b) (c) (d)
(A) (1) (i) (iv) (i)
(B) (iii) (i) (i) (iv)
(C) (i) (i) (iv) (iii)
(D) (i) () (iii) (iv)
Match the following :
List - I List - II .
(a)  Heiroglyphic (ij Mesopotamia
(b) Cuneciform (i) Egypt
() Hammurabi (iii) China
(d) Silk Road (iv) Babylon
Code ;:
@) (b) (e) (d) .
(A) (i) (i) (@v) (i)
(B) (iii) “(ii) (i) (iv)
(C) (i) @) (iv) (iii)
(D) (i) (i) (iii) (iv)

118.5eupmar GQlenamsamar <ient wim e & TeisTa;:

(i) &@uu@réw;;ba;rrmu Lesrum(p)
(ii) @ml_uuggm&:masrrsuu uewTum(®H
(iii) Gmdaugpréw;g')a;rrmu uaRTum(®
(iv) @QeLéspasmear uaTLm(p)
M ydwu snsrer LT ()

(A) (i), (ii) LB

(C) (iv), (v) Lol;_@lb

Identify the wrong pairs :

() Lower Palaeolithic Culture
(i.i! Middle Palaeolithic Culture
{‘iu] Upper Palaeolithic Culture
(iv) Mesolithic Culture

(v Neolithic Culture

(A) (i), (ii) only

(C) (iv), (v) only

(B)
(D)

(B)
(D)

- Leereurh

- Qpeursr

- unGsmi 11

- Gemuef werGLr
- Gweanismi

(iii) i Ho

(i), (iv) LI

= Pallavaram
Nevasa

~  Baghor

"~ Chopani Mange
Mehrgarh

(iii) only

), @) onyy
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119,60 ded) A sy

: FE L Ll e AN | i
Al r"f"lf“.l‘ﬁll’llﬂrf’o'h'ﬂ" “ii
A hif -'
[ ' Wi ’hllﬂm “ " hu 'Mlﬂ;' " l .f/ull ,””0" {, ” /f-;‘ ‘l.f”y{i
l- " ¢
Delhi Wadned the siaiug of Mationil Capltnl tecritary iy i
amendment of (e Constitution,
(A)  6ih (15) ol () il (1)) 75
.12"-%{‘;“” "M".Im, ’&.||IIJWII‘IMIJI’5' el o) A sl ‘3*'*1'_"'"‘*{ G WA
Atnsatriangh 010 gl a0 | gl St
(A) iy nain Gl gt A, (14) 1 sl 1t
(C) ﬂ,ll’ll | Jhs.'n}q,uu.m (1)) ,*f;ir,.u:rlﬁal,’fﬂf'lf ’if“j!?}'f,’
I the medieval period of fndia i st g o “Smployment Bareai” 1)
solve the unemployment problem,
(A)  Feroz Shal Taghliog (14)  albin
(C) Tippu Sultan (1) Alsuddin Khulji

121, arfios @)evconr efhusdsn Gl b sl

(A)  opananfonn Bl : A, L2005 1291
(B)  Largimeniia o, SR L 0 e

(C)  apaingyl 1Glaor g, ' o
(D) @i e gl .

|
fa
Which one is not matched corroectly 7

(A) Ala-ud-din-Khilji . 1200 - 1296 A1,
(B) Bahlol Lodi - 1451 - 1498 A,

(C) M:lhnmmmi«hinv'l‘l|p,ls|f| - 1325 - 1361 AD,

(D) QuI,I)-ud-din—!\il)ulc - 1206 - 1210 A.D,

g inC - gdladlanig 7 B oyih) anaiflena 24” Dbl

grandlen (2007 B med  wilghdlayhy  zwr)

Qauliflanaenit (LG Qaniblene f{’)“ﬁ’lﬂ‘ﬂl aligianmb Qmian () f,',?,r,njr,/f,lﬁ)m,

(A) 11°C (@) 2V'C (C) 44C (D) 24°C
 vemmperature of Chennai (7 meter above MSL) is 34°C, calculate the

{ir:;hzr;tlr;:g of K()(iil““lﬂ‘l’ (20“7 meter above MSIJ) u”ing n(,rmf]l ];]l‘)nc rate,

(A) p11°c (B) 21°C (C) 4a°C (D) 24°C

122. Qaénenamiad (
creflady  @amal-o

[ Turn Over

|

Scanned by CamScanner



O

CPS - 2 68
123.CQurméss
() @evGré (i) Gor
(b) Qgiwaf (ii) GGy b
(c) mmriGeu (i) QpG&L-
(d) regwr (iv) LemGoLTE

(@) (k) (e) (d)°
(A)  (v) (i) (1) (i)
(B) (i) (iv) (i) (i)
(€) @) (@) @ii) (iv)
(D) (v) (i) (i) (i)
Match the following :

(a) Israel (i) Duma

(b) Germany (i) Storting

(c) Norway (iii) Knesset
(d) Russia (iv) Bundestag
Code :

(a)” (b) (e) (d)
(A)  G(v) (i) (5) (i)
(B) - (i) (iv) (1) ()
(€ (1) @ (i) (iv)
(D) (iv) (ili) (i) (i)

124, &@é;éss&w;euﬁ);ﬂsb QumrmsSLOHDS 6T& ?

A) Cagsyr - ulfissmigu Heown
(B) & - sfle Hlew
(C) eumevd) -

GimEss 5EH5 Heold
(D) suL syrapm - UTeneeuenid
Which of the following is not correctly matched ?

(A) Kshetra - Cultivatable land

(B) Khila - Waste land
(C) Vasti - Habitable land
(D) Gapata Saraha - Desert

ROTRINL -SSR
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125.&psssin_aspon Qunpe ;

Ul igwev - 1 LI weD - 11
(a) c:DIdJ@u@ﬂﬂ (1) puag - @ - anﬂrﬂ
(b) B aogy £ cho gy (i) OO b S
(€)  BHureygder ureasf) (i) @il - cob - aibljbh
(d) =B GV (iv) @nfld - @) - QuCGrravagmgb)
@OI@ :

(®) (b) (c) (q)
(A) (1) ({)  (iv) (i1)
B) (i) (i) (i) (iv)
(C) (1) (iv) (iii) (i)
(D) () (iil) (i) (i)
Match the following :

List - I List - II
(a) Al-Beruni (i) Tabaqat-i-Nasiri
(b) Minhaj Us Siraj (i) Mifta Ul Futuh
(c) Ziauddin Barani (ili) Tarikh-Al-Hind
(d) Amir Khusrau (iv) Tarikh-1-Firoz Shahi
Code :

(a) (b) (c) (d)
(A) (i) (i) (iv) (i)
(B) (i) (i) (iii) (iv)

(C) (i) (iv) (itd) (i) |
(D) (iv) (i) (1) (i) -
aps QLsPe arrauru.u'u @bl wd s

126. 50 p B 1g.60
sarQL@ssuupererg ? . | |
(A) enuwbudrafl (B) s Aespognt (C) dYETT (D) .Q&rr@wdw;m
In which place of TamilNadu Hoards of Roman coins have been discovere !
(B) Adichanallur (C) Poompuhar (D) Kodumana

(A) Paiyampalli

127.56upnes Genement sam(H g

(A) efldeuigal [ TO- VT ¢ - m;b‘d) 'Mj, |
(B) umpemeu LTS @LeLm - Lﬂ'Gn)Gﬂg‘;n)u@ 54
(C) &aflu auged @rink b sues pé)
(D) &Yps (AT T b - d Ben pf)
ek Tl m‘;f‘a]y T -pm 'Nilc river
(g} gfc;sa::ochclta - Mississipi river
( g - Ganga river

Ita : .
:](_':)]) g:tip::nfgclta - Seine river

' [ Turn Over
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128.8paimd QLo sdgransana Galbamm] LIgZ
i) erausa dag (i) npsiog Ga FEA5
. i grafin Camg
(iii) QuGmeh zéeTé (iv) Sugradio “~
VG (i) e e
(A) (@), (i) vi@n (B) (i), (i) welHo
(C) (i), (iv) LB (D) (i), (), fHi), (iv)
Which of the following Delhi Sultans repaired Quid ai 7 ‘
(i) Alauddin Khalji (ii) Muhammad bin Tughlzg
(iii) Firuz Tughlaq (iv) Ibrzhim Lodi
(A) (i), (i) only (B) (i), (i) only
(C) (i), (iv) only (D) ), (i), (i), (iv)
129.500pm 1ned _ wrei L 589 (0567 PEETS LWEENT S R
THURSSILLL 5.
(A) yzsCsmien (B) siouf (C) zésmayf (D} wzeny

— District was first established Self Help Groups for women in
TamilNadu.

(A) Pudukkottai (B) Dharmapuri, (C) Thaniavur (D) Mazdurai

130.2 @dlé) Comr L menau é{g&‘l@muu@;ggﬁ aiz BB GiEdunansh.
(A) 12 -aug (B) (D) 15 -cusy
India is the Coun troduce hOT A.

(4) 12th (B) 13t 14th (D) 15t

131.8pssam_cunhld BUST aTj51é GoLamys
Csireyd@ g org 2
A) 2 swdlfl Ges (quar)
(B)

G®s5 Camdd aar geumnen

ABBST - erGamyr GEE: (Loasrru'lraq,m;rm)
(C) erdluram_r gens (Lnaarn;rrrasfmrgm)
(D) uré (w58 GrCseib)

cut cave temple of Gupta
(A) Udayagiri Caves (Odissa)

(B) Ajanta and Ellora Caves (Maharasht_ra)

(C) Elephanta Cave (Maharashtra)

(D) Bagh (Madhya Pradesh)
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139-@&“.& .m(.'\\)\-\\ !N.'hl\.'\.\n ‘lhl“‘-l Ab G| aredil g ‘“lll”' | @i 1! .'I’Iﬂl..llfl"(h!ﬁﬂ{lh.

___Quasonet wnghmih

(A

LS TR

(© tid { o)

Qllarew Wb

DR Qe o b

b @l 101 [i‘nmh

- R ——

aflana oL

(BTG DITHIHLD
e

() —

QIHLDITET LDIDDID

Checlk out the Marginal Propensity to consume and identify :

Change in Demand

Change e
(A) ge in Income

Change in Supply
Change in Price

(©)

a Y [] L]
Change in Population

Change in Price

Change in Consumption

(D)

Change in Income

133. elullwadld apenprit@hsriu wigpEwpopon Diflapsiu@sdue :
B) ey GLr@pafev N
(D) @Qedrari aures apLbGLmeIL-
Who introduced the systematic approach in geography ?

(B) Eratosthenes

(D) Alexandar Von Humbolt

(A)  &mirdd iy
(C) QamCrnCLimr_gv

(A) Carl Ritter
(C) Herodotus
134.QummEgis
LIL QW6 - X
(a)  @DELIT GUp
(b) B&EH FOGuoei
() eum&LLadl

(1)
(ii).
(i)

(d) @pHuw S ueailuflen sihams i

B :

(a) (B) (¢) (d)
(A) (i) (i) () (i)
B) (i) () (i) ()
(© (i) (v) (i) ()
(D) (i) (i) (iv) ()
Match the following :

List - I .
(a) Hunter Commission
(b) Thugee Sleeman
(c) Bengal Tiger

Code :

(@) (b) (c) (d)
(A) (iii) (i) (1) (iv)
B) (i) (i) (i) (V)
(€) (i) (iv) (i) (1)
(D) (i) (i) @) ()

(i)
(i)

(ii)
(d) Father of the Indian Civil Service (iv)

LI 1guleD - IT
gyer euredlen 1Ly

Baubqaed 1971

i gl AL
6i16060) LIy @ Ligbmig iy 1Ay

List - II

Lord Cornwallis

Lord Wellesley

Lord Ripon

Lord William Bentinck

[ Turn Qver
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135, Jhasr @ da) QunSHS. ‘ ‘
LRt - I U iguwe - I

) Qedy

() afl

Caarrarain N

SRS, Qavarall aflsar

(@) Qaydan
() Naysa
(© Qe oy (i)
@ uS ()
SR :

(a) (b)) (e) (&)
(A) () @) @) (i)
(B) @) Gv) (i) ()
(€) @v) () (@) @)
(D) (i) (v) (@) (1)
Match the following :

List - I List - II
(@) Kshetra (1) Iron
(b) Nishka (11) Tax
(c) Krishna ayas (iii) Agriculture land
(d) Bali (iv) Gold, Silver ornament

Code :
(&) (b) (e) (d)
(A) (1) @) (1) (@)

(B) (i) (iv) (i) ()
(©) (¥) (i) (i) @) a a
(D). (i) (iv) (i) (i)
136.8PESRTLUDNIET TESTTHISE@FESTS Bog Sirsawinfaar Corhneldsaurast

Qrudlorhg prLrELaD wopows Ceriplsdssart
()  Swyepyramar ufiFswund (i) oHs Qurmliyeriey

(iii) <fsrrr ONeleoar (iv) uenpsssarenowdrar @BHw FapsmLd
(A) (i), (i), (iv) L@ (B) (), (i), (iii) wl @B
(C) (i), (i), (iv) WL B (D) Qereu S@aSSHID

Due to which of the following reasons the founding fathers preferred the British
Parliamentary System ?

(.i) Familiarity with system (i) More responsibility

(iii) Scpar:fhor.l' of power (iv) Heterogeneous Indian Society
(A) Only [1) (ii), (iv) (B) Only (i), (ii), (i)

(C) Only (ii), (i), (iv) D) Ml of ths shave
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S 170 [ [ ST -

(ol ardemeanCiuingh anenaadr waolie| e
(A) 1972 (1) 1960 (C) 1956 (D) 1965
Honder Roads Organisation was setup in India in
(A) 1972 (1) 1960 (€) 1956 (D) 1965

pam,u i msAGami deanb Gandor_rau@eong ————
(A) 1onid < 15 (B) il - 14 (C) omid - 16

Waorld consumer day Is celebrated on 5

(A)  Muorch - 15 (3) March - 14 (C) March - 16 (D) March - 13

(D) tomité - 13

139, MnAma 0 JM, Bdnay sjautsdr Hiranw efmuugHaTen ST RTRISTTTS

@D )enanir,

(A) 2 - (B) 5 (C) 3 (D) 1
duced liquidity preference theory into

Point out that J.M, Keynes has intro
motiven,
(A) 2 (B) 5 i 3 (D) 1
140.48y6@ \oppih Gaanal auflud e gpb gl afe &G LIGILIHD Qum@pL&6T eTgl ?

(A)  @)apibL| GIIm(HLHET (B) Hesshl QuImHLSET

(C) @i e M@ ummHLsaT (D) @@_@@DHLL ergiayb Qe

Which one of following goods/proﬂa}f'[cxﬁ'@t@&ggl GST ?

B) “Coal"products

(A) Iron products
(D) None of the above

(C) Specified petroleum products

141, @l avefinam_asen Bpliugd

(A) qperf) D@D

(C) oucnasEGETETD
The lower region of the Solar atmosphere is called :
(B) Convective Zone

(A) Ph otosphere
(C) Chromospher® (D)

(B) Qeuliu 218pey &pH&l e
(D) &Crpmrenm

Corona

142, w5 fwen L5 A5 BiHAD SrETLLED BT :
The Sun appears £ ¢ the closest to the earth on :
(B) January 3 (C) September 5 (D) December 4

(A) July 4
[ Turn Gver
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143. ipasrgpid sppisailc) 6T [ T afl ?
(i)  gu@E@ Wsa)d oLrHurerg
(i) L@LWEEE 50 $.15 ewyb ey um?ﬁl
(i) QeLuPsdad ewrb ifsfés Qeulis '
(iv) Qaualu@sHo mitiy s Gepeuns zz.sn'sng.
(A) (i) wHpD (ii) wLHD (B) (i) m.@m o N
(€ (v) LD (D) (i), (i) wHpD (V) OO
Which of the following is/are true ?
(i)  Troposphere is the densest layer of all.

wereng
Aepwwid 2Fs&Eng

(ii) Stratosphere is extended up to S0 km. _ _ i
(iii) Temperature increases with increasing altitude in Mesosphere.
(iv) The gravitational pull is minimal in the exosphere.
(A) (i) and (i) only (B) (i) only
(C) (iv) only (D) (@), (i) and (iv) only
144. &psaamcupern QUTmHESS
UL g6 « I UL iquiev - II
(a) eupd ) 2 erabgin = Sam
(b) &dirsseugi (ii) peuswruLSleumeTiser
(c) urey (iii) <irs grgeurser
(d) sireussi (iv) Swgimel) SHm L@&ﬁlﬁﬂm&swma@mr@? SIDIDEFT
@ﬁﬁ@: mp ] e mn e gy spyes
(a) (b) (e) (d)
(A) (i) (i) (iii) (iv)
(B) (iv) (iii) (i) (i)
(C) (i) (iv) (i) (i)
(D) (i) (i) (iv) (iii)
Match the following :
List - I List - IT
(a) Avanti (i) ~ Secret Service Department
(b) Dirghadhvajas (ii) Keeper of Records
(c) Banu (fii) Royal Messengers
gﬂdes.awagﬂta (iv) Minister for Foreign Relations and War
(@) (b) (e) (d)
(A) (1) (i) (iii) (iv)
(B) (iv) (iii) (i) (i)
(C) (i) (iv) (i) (i)
(D) (i) () (iv) (i)

(LR TR gy
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45.50550010 & &
1 [gév r.{,al&n ;m)fw,,p,..wﬁ‘jmﬂ i
i) BBBwurdli qpmds pamuns Gemediusk abrgrk Ly Gulur wl
EfEact wh B gl
ii S 2y (3] " iy .
[ ] zsl.-}!ﬂ'i/:. fj’)’ .-.51._15 .(_-',3 "’\.f') rr{)f—;: c‘:#-n# .r;/f IS,
@935,!!.0!;2; T E St
(i11) —AmelL&":'/YJ‘T’fT ;{,{/"9’,} JRTR LS Bl R SIS Lt ) ﬁ)ﬁﬁf‘& g )f/f}’ﬂ‘"“

‘lv] ggl_ll__! 0{_‘_35* o 9‘-’ "‘5 t Hand ;;.,H}rn;f; ,,/, J; :[,/ 5)4/1'& 24 ) )/'5 JL$ )//})/ﬂu
.( {(q(] L _‘)) 5 ’Di {js}; r}/} r_.o'._.-i').-t

G B s B

(A) i), (i) Wl Bs (B) (i), liv wili (C)

Which among the following stztements is not true ?

(i) Qutb-Uddin Aibak impased Jizya on Neon-Muslims for the first time in Indiz.

(ii) Sultan Itutmish established 5 separate department of aygiculture, called
Diwan-i-Amir Xohi,

(iii) Sultan Firoz Tughlag’s estzblished 5 separste depariment for slaves.

fiv) Sultan Muhzmmad Ein Tughlsg introduction of coppes and silver Saun

(A) (i), (ii) only (B) (), iv) only (C) (), (H) only (D) (@), fiv) only
146.cuwnaneufl samii nan Gungy siarisa sty aumrans Gfiebieam

2 eaumdps.

(A) Yfey 56-59 / (B) Dfiay45-55

Under the computation of Income Taz,

of :
(A) Section 36-39 (B) Section 45-55 (C) Sectign 22-27 (D) Section 15-17

(0 Gfni2227 D) Gfiag 15-17
Inegir o szlzries under the sections

147.5paumh safi@setian aranal F0LNT i

() Queris Glosswisafis swer 500 550 27

eram gHALLuGADTT.
(ii) Fwart unpoufliwgganis s suwwgms CEnppeiEsai Aagui Zgaunt.

(iii) g Damissane FL7T 5 s swdsdly Qwndild aegsiuli e
(iv) ppayiss GEHTL. 55T Bsrusib, 550 GEATD 2 Auama Dz Az sssnm

SL0THT gﬁ@)&’m 25D,
(A) (i) whmd (i) wCGD

i Aegui Hlars B5L5ET

L]

(B) (i) wiHhms (iv) 1wl (Ho

(C) (i) wpmd (iv) W (G (D) (i) WG
llowing statements is not true ? ,

Which among the fo

(i) The first Jamt?x;rj:ﬁ
(ii) Kiifd(:g}g“:; Jaina tradition Pl‘aabhd was the lounder of Jainisisi.
(iii) Most of the early Jaina U,,:Vt:ss wm wmln-n' ,’n Sanskiit l&ﬂglfagc, 3

i Acharranga Sutré Sutralgmdngg “n?. Kf'ipd:s‘utra are the earliest Jaina texts.
(A) (i) and (ii) only :D, lli”rdnld (iv) only

(€) (i) and (iv) only (D) (i) only

hankara was Risabha reffered to as Nigantha Nataputta

[ Turn Over
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148.1929 -2 oz o
NS0T f_:]:;) :;jl]_'}"j 95:: 31.‘;.':'1;.5@_.]

%

-z epswen G QTL!E_,

Cumm_: 5855 s@emn smduar -

(A) &. QrrnCGsmurarssm B) & sTOTTH
(C) eren. s55waptsd ) (D) égujﬁ'—sw—fé—a—ﬁr&
Who led the anti-simon campaign iz 1929 when Simon Commission visited
TamilNadu ?
(A) C. Rajagopalachari (B) K. Kamardj .
(D) Vij ayarahavacharl

(C) S. Satyamurthi

QuuA@E ampssn Aerimdy

149.5)558 w0 QuprasLde § gHu@D HuUdE 555

a0 -
1999 (B) 20 a4 (D) 1932

(A)
The naming conventions for storms +hat develop in the Indian Ocean begin in :
(A) 1999 (B) 2010 (C) 2004 (D) 1952

150.8)p8W srflweewliben abs UEE Coiisd perermusezL undl EanEng ?

(A) UBH XV (B) ud XX € ued XXI (D) ugs M
Which part of the Constitution of India says about the election commission ?
(A) Part XV (B) Part XX (C) Part XXII (D) Part III

! N S =f
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